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[요지]

1) 다음 글의 요지로 가장 적절한 것은?

[Exercise 1]

Profits are managed not only by setting a 

pricing strategy to maximize revenues and 

control costs; they are also influenced by a 

commitment to measure marketing performance. 

An organization cannot achieve its objectives if 

it does not know where it stands in meeting 

those objectives. Measurement of marketing 

activities is needed to assess past performance 

as well as set a future marketing strategy. For 

example, it is important for a minor league 

baseball team to understand the effectiveness of 

Saturday night fireworks promotions in terms of 

the number of additional tickets sold and 

related spending from those customers. Tracking 

performance in this case would enable a 

comparison of revenue generated with costs 

incurred to execute the promotion. Such return 

on investment analysis should be performed 

whenever possible to understand the relationship 

between marketing investment and profits, and 

guide decision-making for future marketing 

activities.

① 마케팅 전략 수립은 비용 절감보다 고객 

만족에 초점을 맞춰야 한다.

② 수익 극대화를 위해서는 비용 통제보다 

창의적인 전략이 우선되어야 한다.

③ 마케팅 성과 측정은 과거의 성과 평가뿐 

아니라 미래 전략 수립에도 필수적이다.

④ 수익성 분석은 주로 비용 절감 방안을 찾기 

위해 사용된다.

⑤ 스포츠 산업에서는 이벤트 마케팅보다 가격 

전략이 중요하다.

2) 다음 글의 요지로 가장 적절한 것은?

[Exercise 2]

Consider how some people, including some 

young children, enjoy doing jigsaw puzzles for 

hours. There are no big surprises. (Unless the 

last piece has been hidden by a sly sibling.) The 

players know exactly what the end result will 

look like and are rarely startled midway. But 

there can still be great satisfaction upon 

completion. When listening to an interesting 

story, we can be deeply disappointed if we 

don't get to hear the ending. When exploring a 

new place such as a house or a park, we often 

want to get a clear sense of the overall layout 

and can be frustrated if we don't know how 

different locations fit together. Infants, like all of 

us, strive to achieve closure. They have a need 

to identify all the toys that are in a box, or 

explore every room of a new space. They have 

similar needs for closure in their causal models 

of how things happen. This constellation of 

needs for closure often helps drive wonder, 

especially when there is a need to close an 

explanatory gap.

① 인간은 언제나 예상치 못한 결과에서 만족을 

얻는다.

② 아이들은 미완성된 정보에 대해 무관심한 

경향이 있다.

③ 인간은 인지적 완성을 추구하며, 이는 호기심과 

연결된다.

④ 이야기를 끝까지 듣지 않는 것이 새로운 

창의성을 촉진한다.

⑤ 탐험 활동은 주로 실용적인 목적을 달성하기 

위해 이루어진다.
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3) 다음 글의 요지로 가장 적절한 것은?

[Exercise 3]

Unlike Europe's national and partisan press, U.S. 

daily newspapers competed predominantly on 

the municipal level. The circulation range for a 

daily newspaper was primarily bounded by its 

distance from other cities and by its time of 

publication. Streetcars at the end of the 19th 

century, and motor trucks in the 20th permitted 

timely delivery of newspapers over larger 

regions. Different papers competing in the same 

towns chose to limit or spread out their physical 

distribution and editorial coverage to different 

radial distances from the central city. Morning 

newspapers printed during the night were, of 

course, able to distribute over a wider range 

than afternoon papers. By and large, however, 

the geographical area within which happenings 

were regularly reported as local news coincided 

with the area from which the newspaper drew 

the bulk of its readers.

① 미국 신문은 전국적으로 경쟁을 벌인다.

② 유럽과 달리 미국 신문은 지역 중심으로 

경쟁한다.

③ 미국의 신문 유통은 주로 정부 정책에 의해 

제한된다.

④ 유럽과 미국의 신문은 동일한 경쟁 구조를 

가진다.

⑤ 오후에 발행된 신문은 전국적으로 더 넓게 

퍼진다.

4) 다음 글의 요지로 가장 적절한 것은?

[Exercise 4]

Wind plays an important role in Earth's water 

cycle. In recent years, the once-accepted view of 

the water cycle has changed, and wind's role in 

atmospheric circulation has found greater 

appreciation. Traditionally, it was thought that 

the planet's water cycle mostly involved 

evaporated moisture from large bodies of water 

being distributed by wind across the Earth's 

surface. In the last fifty years, that view has 

changed — it is now known that forests play a 

significant role in generating the transpiration 

that drives rainfall. The various plants that live 

within forests capture water in their roots, and 

then release it as vapour through transpiration. 

Prevailing winds transport the water through the 

air, delivering rainfall to other locations. When 

this water moves through the power of wind in 

large volumes, it becomes what meteorologist 

José Marengo called a 'flying river'.

① 바람은 대기 중 이산화탄소 농도를 감소시키는 

데 중요한 역할을 한다.

② 수분의 증발은 주로 사막과 해안 지역에서 

발생한다.

③ 숲은 대기 중 수분 순환에 중요한 역할을 하며, 

바람이 이를 전달한다.

④ 대기 순환은 바람보다는 해양의 움직임에 

의존한다.

⑤ 숲은 증산 작용 없이도 비를 발생시킬 수 있다.
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5) 다음 글의 요지로 가장 적절한 것은?

[Exercise 5]

Caregivers and others in a child's immediate 

surroundings affect the language being acquired 

by that child. Later, social groups affect the 

child's language. This results in social varieties of 

language with differences for class, ethnicity, and 

age as well as gender and gender expression. 

However, when a social group undergoes 

significant changes across generations leading to 

the need for a different type of communication, 

an earlier variety might cease to be used. This 

occurred with the English initially spoken in 

Cosme and Nueva Australia, which were rural 

Paraguayan communities founded by Australian 

immigrants in the 1890s. The only remaining 

language vestiges from those English-speaking 

immigrants are common Paraguayan last names 

like Kennedy, Smith, Stanley, and Wood.

① 언어의 변화는 주로 기술 발전에 의해 

발생한다.

② 언어는 사회 집단의 변화에 따라 형태가 

유지되기도 하고 사라지기도 한다.

③ 모든 사회 집단은 동일한 언어 변화를 겪는다.

④ 언어 변화는 주로 정부의 정책에 따라 

결정된다.

⑤ 특정 언어가 사라지면 모든 흔적이 완전히 

없어지게 된다.

6) 다음 글의 요지로 가장 적절한 것은?

[Exercise 6]

Pain is a neurological response to an external 

stimulus. A mosquito bite, triggering a very 

small number of pain receptors, will create a 

mild sensation of awareness in the brain. The 

signal is relayed by a chain of neurons up the 

spine of the individual to a special place in the 

brain. The excitement of the brain pain neurons 

in turn asserts a presence in our consciousness. 

We become aware of something being on our 

arm. If it is a bee sting, where the bee leaves 

noxious liquids at the sting site, more neurons 

at the site of the sting are triggered than with 

a mosquito. Therefore, Signal is sent to the 

brain, with a stronger insertion into the 

individual's consciousness. If a falling tree 

crushes a leg then many, many pain receptors 

are fired off and the consciousness is 

overwhelmed with pain signals. Torn flesh will 

continuously fire the signal until medical 

treatment deals with the problem.

① 모든 통증은 뇌의 동일한 부위에서 처리된다.

② 경미한 통증은 주로 감정적 반응을 유도한다.

③ 통증의 강도는 자극의 강도와 관련이 있다.

④ 통증은 주로 외부 환경의 변화에 따라 

발생한다.

⑤ 신체의 상처는 통증과 무관하게 치유된다.
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7) 다음 글의 요지로 가장 적절한 것은?

[Exercise 7]

Conflict is at the very heart of people-work, 

especially for professionals such as social 

workers, police and probation officers, who are 

often required to balance individual rights and 

freedoms against risks and harm to others. The 

very act of undertaking a risk assessment on an 

individual or family carries with it the likelihood 

of decisions being taken with which some of 

the people involved may violently disagree. To 

remove a child 'at risk' from a family to a place 

of safety, or to insist that someone in mental 

distress goes into hospital for treatment, is to 

be involved in conflict. Within a 

multi-disciplinary hospital team, there could also 

be conflicting approaches to how to work most 

effectively with, or treat, a particular individual 

or family. Most people-workers and healthcare 

workers can also give examples of times when 

they have had to deal with angry, distressed or 

disappointed people whose response has often 

provoked high levels of conflict. To develop 

appropriate communication skills for dealing with 

conflict is, therefore, essential.

① 갈등은 전문가들 사이에서 발생하지 않는다.

② 갈등 상황에서는 감정을 억누르는 것이 최선의 

해결책이다.

③ 사람을 상대하는 직업에서는 갈등을 해결하기 

위한 소통 기술이 필수적이다.

④ 갈등은 주로 업무 환경의 불만에서 비롯된다.

⑤ 갈등을 피하기 위해 모든 사람의 요구를 

수용해야 한다.

8) 다음 글의 요지로 가장 적절한 것은?

[Exercise 8]

Drinking bypasses lots of our natural food 

control system. Just think how easy it is to drink 

a large glass of apple juice, yet you wouldn't sit 

down and eat eight apples in one sitting — 

after the second one, the control system would 

step in and say you have had enough. The 

whole apple contains fibre, which slows the 

release of the apple's sugar and, in doing so, 

balances the effect of eating it on our energy. 

Without the fibre in the juice, the sugar sends 

us on a rollercoaster of energy cycles, starting 

with a boost and ending in a crash. The crash 

may be just at the point when you are asked to 

stand up and present your ideas or you need to 

kick off that tricky task on your to-do list. It's 

just not worth it. Sugary caffeine drinks have a 

similar, if not more profound, effect, yet large 

coffee shop chains take great delight in selling 

us expensive, iced or cream-topped drinks that 

are equivalent to an extra meal, but will simply 

not register as one — starting a blood sugar 

crash cycle all over again.

① 주스와 같은 음료는 소화기관의 기능을 

강화한다.

② 액체 형태의 음식 섭취는 신체의 자연적인 

식사 조절 체계를 우회한다.

③ 식사 조절 체계는 음료보다 고체 음식을 

선호하지 않는다.

④ 카페인은 체내 수분량을 증가시킨다.

⑤ 액체 칼로리는 고체 음식보다 포만감을 더 잘 

제공한다.
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9) 다음 글의 요지로 가장 적절한 것은?

[Exercise 9]

There are a lot of ways for an ad to go wrong. 

But its odds for success are increased by 

starting out with a smart, focused strategy. With 

such focus, the ad is able to deliver its singular 

message on the many levels in which 

advertising communicates. It bores down to 

make its point rather than making a big mess 

of itself. The chance for the reader to "get it" 

increases tremendously. The flipside is an 

unfocused strategy leads to ads that must 

deliver many different points all at the same 

time. This is not effective. Here's an analogy: Try 

throwing a dozen balls at someone all at once. 

It's impossible to catch a single one. In fact, the 

impulse is to give up, shield your face, and try 

not to get hurt. Absolute chaos. But throw a 

single ball directly at the target and chances 

are, he or she will make the catch. That's the 

difference between an ineffective ad with a fuzzy 

strategy and an effective ad with a focused 

strategy.

① 광고 전략은 다양한 메시지를 동시에 전달해야 

효과적이다.

② 광고 전략의 성공 여부는 예산에 의해 

결정된다.

③ 명확한 전략을 가진 광고는 효과적으로 

메시지를 전달할 수 있다.

④ 광고 전략은 항상 소비자의 감정에 초점을 

맞춰야 한다.

⑤ 광고 전략에서 창의성은 논리적 구성보다 더 

중요하다.

10) 다음 글의 요지로 가장 적절한 것은?

[Exercise 10]

We are all able to think of words which have 

changed their meanings, or acquired additional 

meanings, in our own lifetimes, such as the 

changes in the use of words like chip, grass, 

joint and hardware. This demonstrates how 

words are mere labels for constructs of 

meanings. If these constructs have a different 

make-up for one person to another, the 

transitivity of communication between them is 

not going to be complete or accurate. For those 

who are learning English as an additional 

language, apprehension of English forms and 

structures, and their meanings may pose 

difficulties, or even may be tinged with aspects 

of meaning from the characteristics owned by 

the native tongue. Gradually, with full fluency 

and the commerce of using the language, 

commonality of understanding will be generally 

achieved. However, it is important for those 

teaching children at early stages of the 

acquisition of English in our schools to attend 

to building the understanding of meanings 

behind the labels of the words and phrases 

being taught.

① 언어는 시간이 지나도 그 의미가 변하지 

않는다.

② 단어의 의미 변화는 언어 학습자에게 큰 

도움이 된다.

③ 언어 학습자에게는 단어의 의미뿐 아니라 그 

이면의 개념도 이해하는 것이 중요하다.

④ 언어 변화는 특정 사회 계층에서만 발생한다.

⑤ 단어의 의미 변화는 주로 기술적 진보에 의해 

이루어진다.
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11) 다음 글의 요지로 가장 적절한 것은?

[Exercise 11]

Many of us are prone to wanting instant 

gratification: constantly buying new clothes to 

be 'trendy', wanting the latest thing to 'keep up' 

or seeking immediate results or pleasure. Even 

though choosing something now may feel good 

in the moment, taking a longer-term view and 

developing self-discipline can result in bigger 

and better rewards in the future. Delayed 

gratification is our ability to resist these 

temptations of instant pleasure, allowing us to 

stay focused on our long-term goals. It involves 

budgeting and spending mindfully, as well as 

developing discipline and patience to avoid 

impulse spending and decision making. Think 

about instant vs delayed gratification when you 

are developing your own financial goals. 

Consider whether your goals are focused on 

short-term gains or designed to look forward to 

a bigger picture.

① 즉각적인 만족은 장기적인 성취보다 더 가치 

있다.

② 재정 목표를 설정할 때에는 단기적인 이익에 

집중해야 한다.

③ 장기적인 목표를 달성하기 위해서는 즉각적인 

만족을 참는 것이 중요하다.

④ 소비 습관은 개인의 성향과 무관하게 형성된다.

⑤ 금전적 목표는 외부의 조언보다 자신의 감정에 

따라 설정해야 한다.

12) 다음 글의 요지로 가장 적절한 것은?

[Exercise 12]

Uncertainty about what tool or procedure to 

use, and the risk that results are not what they 

appear to be, are problems common to all the 

scientific disciplines. The development of new 

tools allows scientists to answer questions they 

could not answer in the past, and the answers 

to those questions will lead to new questions, 

and so on. Therefore, new technologies and 

procedures are crucial to the progress of 

science. At the same time, other scientists 

unfamiliar with a new tool may express 

skepticism and call for others to replicate the 

experiments. Because this skepticism often 

comes to us in the form of sound bites, and 

because uncertainty about experimental tools is 

an aspect of science that is not familiar to most 

people, even people with a bachelor's degree in 

science, the skepticism may seem like waffling. 

Waffling is annoying when you are trying to 

make decisions on the basis of the scientific 

information that comes your way. However, if a 

new technique is the source of the uncertainty, 

time and future experiments will confirm or 

disconfirm its usefulness and clear up 

uncertainty.

① 과학 연구에서 도구의 불확실성은 연구 진행을 

방해한다.

② 새로운 도구와 기술은 과학의 발전에 

필수적이다.

③ 모든 과학 실험은 동일한 도구로 반복되어야 

한다.

④ 과학자들은 실험의 결과보다는 이론에 

집중해야 한다.

⑤ 과학 발전의 핵심은 기존 방법을 고수하는 

것이다.
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[주제]

13) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 1]

Profits are managed not only by setting a 

pricing strategy to maximize revenues and 

control costs; they are also influenced by a 

commitment to measure marketing performance. 

An organization cannot achieve its objectives if 

it does not know where it stands in meeting 

those objectives. Measurement of marketing 

activities is needed to assess past performance 

as well as set a future marketing strategy. For 

example, it is important for a minor league 

baseball team to understand the effectiveness of 

Saturday night fireworks promotions in terms of 

the number of additional tickets sold and 

related spending from those customers. Tracking 

performance in this case would enable a 

comparison of revenue generated with costs 

incurred to execute the promotion. Such return 

on investment analysis should be performed 

whenever possible to understand the relationship 

between marketing investment and profits, and 

guide decision-making for future marketing 

activities.

① The role of technology in marketing analysis

② The importance of measuring marketing 

performance for profit management

③ The impact of employee satisfaction on 

organizational success

④ How competition affects pricing strategies

⑤ The relationship between branding and 

customer loyalty

14) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 2]

Consider how some people, including some 

young children, enjoy doing jigsaw puzzles for 

hours. There are no big surprises.

(Unless the last piece has been hidden by a sly 

sibling.) The players know exactly what the end 

result will look like and are rarely startled 

midway. But there can still be great satisfaction 

upon completion. When listening to an 

interesting story, we can be deeply disappointed 

if we don't get to hear the ending. When 

exploring a new place such as a house or a 

park, we often want to get a clear sense of the 

overall layout and can be frustrated if we don't 

know how different locations fit together. 

Infants, like all of us, strive to achieve closure. 

They have a need to identify all the toys that 

are in a box, or explore every room of a new 

space. They have similar needs for closure in 

their causal models of how things happen. This 

constellation of needs for closure often helps 

drive wonder, especially when there is a need to 

close an explanatory gap.

① The psychological satisfaction of achieving 

closure

② How children develop curiosity through 

storytelling

③ The effects of problem-solving on brain 

development

④ The importance of social interaction in early 

learning

⑤ The role of memory in completing cognitive 

tasks
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15) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 3]

Unlike Europe's national and partisan press, U.S. 

daily newspapers competed predominantly on 

the municipal level. The circulation range for a 

daily newspaper was primarily bounded by its 

distance from other cities and by its time of 

publication. Streetcars at the end of the 19th 

century, and motor trucks in the 20th permitted 

timely delivery of newspapers over larger 

regions. Different papers competing in the same 

towns chose to limit or spread out their physical 

distribution and editorial coverage to different 

radial distances from the central city. Morning 

newspapers printed during the night were, of 

course, able to distribute over a wider range 

than afternoon papers. By and large, however, 

the geographical area within which happenings 

were regularly reported as local news coincided 

with the area from which the newspaper drew 

the bulk of its readers.

① The historical evolution of journalism in the 

U.S.

② How transportation expanded newspaper 

distribution

③ The impact of local competition on 

newspaper circulation

④ Differences between American and European 

press systems

⑤ The role of technology in modern news 

distribution

16) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 4]

Wind plays an important role in Earth's water 

cycle. In recent years, the once-accepted view of 

the water cycle has changed, and wind's role in 

atmospheric circulation has found greater 

appreciation. Traditionally, it was thought that 

the planet's water cycle mostly involved 

evaporated moisture from large bodies of water 

being distributed by wind across the Earth's 

surface. In the last fifty years, that view has 

changed — it is now known that forests play a 

significant role in generating the transpiration 

that drives rainfall. The various plants that live 

within forests capture water in their roots, and 

then release it as vapour through transpiration. 

Prevailing winds transport the water through the 

air, delivering rainfall to other locations. When 

this water moves through the power of wind in 

large volumes, it becomes what meteorologist 

José Marengo called a 'flying river'.

① The transformation of scientific views on 

Earth's water cycle

② How climate change affects global rainfall

③ The role of oceans in maintaining 

atmospheric balance

④ How air pressure systems drive weather 

changes

⑤ The importance of conserving freshwater 

resources
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17) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 5]

Caregivers and others in a child's immediate 

surroundings affect the language being acquired 

by that child. Later, social groups affect the 

child's language. This results in social varieties of 

language with differences for class, ethnicity, and 

age as well as gender and gender expression. 

However, when a social group undergoes 

significant changes across generations leading to 

the need for a different type of communication, 

an earlier variety might cease to be used. This 

occurred with the English initially spoken in 

Cosme and Nueva Australia, which were rural 

Paraguayan communities founded by Australian 

immigrants in the 1890s. The only remaining 

language vestiges from those English-speaking 

immigrants are common Paraguayan last names 

like Kennedy, Smith, Stanley, and Wood.

① How children's language development is 

influenced by caregivers

② The role of migration in shaping language 

evolution

③ How social changes can lead to the 

disappearance of language varieties

④ The impact of globalization on minority 

languages

⑤ The relationship between language and 

cultural identity

18) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 6]

Pain is a neurological response to an external 

stimulus. A mosquito bite, triggering a very 

small number of pain receptors, will create a 

mild sensation of awareness in the brain. The 

signal is relayed by a chain of neurons up the 

spine of the individual to a special place in the 

brain. The excitement of the brain pain neurons 

in turn asserts a presence in our consciousness. 

We become aware of something being on our 

arm. If it is a bee sting, where the bee leaves 

noxious liquids at the sting site, more neurons 

at the site of the sting are triggered than with 

a mosquito. Therefore, Signal is sent to the 

brain, with a stronger insertion into the 

individual's consciousness. If a falling tree 

crushes a leg then many, many pain receptors 

are fired off and the consciousness is 

overwhelmed with pain signals. Torn flesh will 

continuously fire the signal until medical 

treatment deals with the problem.

① How severe injuries overwhelm human 

consciousness

② The stages of neurological pain response

③ The relationship between brain neurons and 

pain perception

④ How external stimuli influence human 

emotions

⑤ The role of medical intervention in trauma 

treatment
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19) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 7]

Conflict is at the very heart of people-work, 

especially for professionals such as social 

workers, police and probation officers, who are 

often required to balance individual rights and 

freedoms against risks and harm to others. The 

very act of undertaking a risk assessment on an 

individual or family carries with it the likelihood 

of decisions being taken with which some of 

the people involved may violently disagree. To 

remove a child 'at risk' from a family to a place 

of safety, or to insist that someone in mental 

distress goes into hospital for treatment, is to 

be involved in conflict. Within a 

multi-disciplinary hospital team, there could also 

be conflicting approaches to how to work most 

effectively with, or treat, a particular individual 

or family. Most people-workers and healthcare 

workers can also give examples of times when 

they have had to deal with angry, distressed or 

disappointed people whose response has often 

provoked high levels of conflict. To develop 

appropriate communication skills for dealing with 

conflict is, therefore, essential.

① Effective communication strategies in 

high-conflict environments

② The emotional burden of healthcare 

professionals

③ How teamwork resolves conflicts in social 

services

④ The importance of empathy in law 

enforcement

⑤ How to balance individual rights with public 

safety

20) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 8]

Drinking bypasses lots of our natural food 

control system. Just think how easy it is to drink 

a large glass of apple juice, yet you wouldn't sit 

down and eat eight apples in one sitting — 

after the second one, the control system would 

step in and say you have had enough. The 

whole apple contains fibre, which slows the 

release of the apple's sugar and, in doing so, 

balances the effect of eating it on our energy. 

Without the fibre in the juice, the sugar sends 

us on a rollercoaster of energy cycles, starting 

with a boost and ending in a crash. The crash 

may be just at the point when you are asked to 

stand up and present your ideas or you need to 

kick off that tricky task on your to-do list. It's 

just not worth it. Sugary caffeine drinks have a 

similar, if not more profound, effect, yet large 

coffee shop chains take great delight in selling 

us expensive, iced or cream-topped drinks that 

are equivalent to an extra meal, but will simply 

not register as one — starting a blood sugar 

crash cycle all over again.

① The consequences of consuming liquid 

calories

② How caffeine and sugar interact in the body

③ The importance of dietary fiber for digestion

④ The role of hydration in maintaining energy 

balance

⑤ How different nutrients affect metabolic rates
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21) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 9]

There are a lot of ways for an ad to go wrong. 

But its odds for success are increased by 

starting out with a smart, focused strategy.

With such focus, the ad is able to deliver its 

singular message on the many levels in which 

advertising communicates. It bores down to 

make its point rather than making a big mess 

of itself. The chance for the reader to "get it" 

increases tremendously. The flipside is an 

unfocused strategy leads to ads that must 

deliver many different points all at the same 

time. This is not effective. Here's an analogy: Try 

throwing a dozen balls at someone all at once. 

It's impossible to catch a single one. In fact, the 

impulse is to give up, shield your face, and try 

not to get hurt. Absolute chaos. But throw a 

single ball directly at the target and chances 

are, he or she will make the catch. That's the 

difference between an ineffective ad with a fuzzy 

strategy and an effective ad with a focused 

strategy.

① The dangers of overcomplicating advertising 

messages

② How a clear strategy enhances ad 

effectiveness

③ The psychological effects of visual 

advertisements

④ The role of branding in successful campaigns

⑤ How emotional appeal influences consumer 

behavior

22) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 10]

We are all able to think of words which have 

changed their meanings, or acquired additional 

meanings, in our own lifetimes, such as the 

changes in the use of words like chip, grass, 

joint and hardware. This demonstrates how 

words are mere labels for constructs of 

meanings. If these constructs have a different 

make-up for one person to another, the 

transitivity of communication between them is 

not going to be complete or accurate. For those 

who are learning English as an additional 

language, apprehension of English forms and 

structures, and their meanings may pose 

difficulties, or even may be tinged with aspects 

of meaning from the characteristics owned by 

the native tongue. Gradually, with full fluency 

and the commerce of using the language, 

commonality of understanding will be generally 

achieved. However, it is important for those 

teaching children at early stages of the 

acquisition of English in our schools to attend 

to building the understanding of meanings 

behind the labels of the words and phrases 

being taught.

① How language barriers affect global 

communication

② The challenges of teaching abstract concepts 

in language

③ The importance of understanding word 

meanings in language learning

④ How childhood experiences shape language 

development

⑤ The relationship between language and 

cognitive flexibility
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23) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 11]

Many of us are prone to wanting instant 

gratification: constantly buying new clothes to 

be 'trendy', wanting the latest thing to 'keep up' 

or seeking immediate results or pleasure. Even 

though choosing something now may feel good 

in the moment, taking a longer-term view and 

developing self-discipline can result in bigger 

and better rewards in the future. Delayed 

gratification is our ability to resist these 

temptations of instant pleasure, allowing us to 

stay focused on our long-term goals. It involves 

budgeting and spending mindfully, as well as 

developing discipline and patience to avoid 

impulse spending and decision making. Think 

about instant vs delayed gratification when you 

are developing your own financial goals. 

Consider whether your goals are focused on 

short-term gains or designed to look forward to 

a bigger picture.

① The importance of budgeting for financial 

success

② How self-discipline leads to long-term 

rewards

③ The psychological effects of consumerism

④ The impact of peer pressure on spending 

habits

⑤ How saving strategies contribute to personal 

growth

24) 다음 글의 주제로 가장 적절한 것은? 

[Exercise 12]

Uncertainty about what tool or procedure to 

use, and the risk that results are not what they 

appear to be, are problems common to all the 

scientific disciplines. The development of new 

tools allows scientists to answer questions they 

could not answer in the past, and the answers 

to those questions will lead to new questions, 

and so on. Therefore, new technologies and 

procedures are crucial to the progress of 

science. At the same time, other scientists 

unfamiliar with a new tool may express 

skepticism and call for others to replicate the 

experiments. Because this skepticism often 

comes to us in the form of sound bites, and 

because uncertainty about experimental tools is 

an aspect of science that is not familiar to most 

people, even people with a bachelor's degree in 

science, the skepticism may seem like waffling. 

Waffling is annoying when you are trying to 

make decisions on the basis of the scientific 

information that comes your way. However, if a 

new technique is the source of the uncertainty, 

time and future experiments will confirm or 

disconfirm its usefulness and clear up 

uncertainty.

① How skepticism drives scientific progress

② The role of new technologies in advancing 

science

③ The importance of collaboration in scientific 

research

④ How public perception affects scientific 

discoveries

⑤ The relationship between theory and 

experimentation
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정답 및 해설

1) 정답 분석
③ 마케팅 성과 측정은 과거의 성과 평가뿐 아니라 미

래 전략 수립에도 필수적이다.
 근거: "Measurement of marketing activities is 

needed to assess past performance as well as set 
a future marketing strategy."

이 문장에서 명확히 마케팅 성과 측정이 과거 성과 평
가와 미래 전략 수립 모두에 필요하다고 언급하고 
있음.

오답 분석
① 고객 만족에 대한 언급은 없으며, 비용 절감이 초점

이 아님.
② 창의적인 전략보다는 측정과 수익성 분석이 강조됨.
④ 비용 절감보다는 수익과 비용의 관계 분석에 초점을 

둠.
⑤ 가격 전략의 중요성보다는 마케팅 활동의 측정과 수

익성에 대한 언급이 주된 내용임.

2) 정답 분석
③ 인간은 인지적 완성을 추구하며, 이는 호기심과 연

결된다.
 근거: "Infants, like all of us, strive to achieve 

closure. [...] This constellation of needs for closure 
often helps drive wonder, especially when there is 
a need to close an explanatory gap."

인간은 인지적 완성을 추구하며, 이는 궁금증과 호기심
을 자극함.

오답 분석
① 예상치 못한 결과에서 만족을 얻는다는 내용은 없

음.
② 아이들이 정보에 무관심하다는 내용은 명시되어 있

지 않음.
④ 미완성된 정보가 창의성을 촉진한다는 주장은 없음.
⑤ 탐험 활동의 목적이 실용성이라는 내용은 언급되지 

않음.

3) 정답 분석
② 유럽과 달리 미국 신문은 지역 중심으로 경쟁한다.
 근거: "Unlike Europe's national and partisan press, 

U.S. daily newspapers competed predominantly on 
the municipal level."

미국 신문은 주로 지역 단위로 경쟁하며, 이는 유럽과 
다르다는 점이 강조됨.

오답 분석
① 전국적 경쟁보다는 지역 중심의 경쟁이 강조됨.
③ 정부 정책에 대한 언급은 없음.
④ 유럽과 미국의 신문 경쟁 구조는 명확히 다름.
⑤ 오전 신문이 더 넓은 범위로 유통됨.

4) 정답 분석
③ 숲은 대기 중 수분 순환에 중요한 역할을 하며, 바

람이 이를 전달한다.
 근거: "It is now known that forests play a 

significant role in generating the transpiration that 
drives rainfall. [...] Prevailing winds transport the 
water through the air, delivering rainfall to other 
locations."

숲이 증산을 통해 대기 중 수분을 공급하고, 바람이 이
를 다른 지역으로 운반해 비를 내리게 한다는 내용
이 명확히 제시됨.

오답 분석
① 이산화탄소 농도에 대한 언급은 없음.
② 수분 증발이 주로 사막과 해안 지역에서 발생한다는 

내용은 없음.
④ 해양의 움직임보다 바람과 숲의 역할이 강조됨.
⑤ 숲은 증산 작용을 통해 비를 발생시킨다고 명시됨.

5) 정답 분석
② 언어는 사회 집단의 변화에 따라 형태가 유지되기도 

하고 사라지기도 한다.
 근거: "When a social group undergoes significant 

changes across generations leading to the need 
for a different type of communication, an earlier 
variety might cease to be used."

사회 집단이 변화하면서 새로운 소통 방식이 필요해지
면 이전 언어 형태가 사라질 수 있음을 설명함.

오답 분석
① 기술 발전보다는 사회적 변화가 주된 요인으로 강조

됨.
③ 모든 사회 집단이 동일한 변화를 겪는 것은 아님.
④ 정부 정책에 대한 언급 없음.
⑤ 언어가 사라져도 일부 흔적(성씨 등)은 남는다고 명

시됨.

6) 정답 분석
③ 통증의 강도는 자극의 강도와 관련이 있다.
 근거: "If a falling tree crushes a leg then many, 

many pain receptors are fired off and the 
consciousness is overwhelmed with pain signals."

자극이 강할수록 더 많은 통증 수용체가 활성화되며, 
이에 따라 강한 통증이 발생함.

오답 분석
① 통증이 뇌의 동일한 부위에서 처리된다는 내용 없

음.
② 감정적 반응에 대한 언급 없음.
④ 외부 환경 변화보다는 물리적 자극이 주된 요인임.
⑤ 상처는 통증과 밀접한 관련이 있음.

7) 정답 분석
③ 사람을 상대하는 직업에서는 갈등을 해결하기 위한 

소통 기술이 필수적이다.
 근거: "To develop appropriate communication skills 

for dealing with conflict is, therefore, essential."
사람을 다루는 직업에서는 갈등을 해결하기 위한 적절

한 소통 기술이 필수적이라는 점을 명확히 설명하고 
있음.

오답 분석
① 전문가들 사이에서도 갈등이 발생할 수 있음.
② 감정 억제보다는 적절한 소통 기술이 강조됨.
④ 업무 환경의 불만보다는 상황적 결정과 그에 따른 



 2026 수능특강 영어독해연습 변형문제 [6강]

- 63 -

반응이 갈등을 유발함.
⑤ 모든 요구를 수용하는 것이 아니라 균형 잡힌 판단

이 중요함.

8) 정답 분석
② 액체 형태의 음식 섭취는 신체의 자연적인 식사 조

절 체계를 우회한다.
 근거: "Drinking bypasses lots of our natural food 

control system."
음료는 신체의 자연적인 식사 조절 메커니즘을 우회하

며 쉽게 과도한 섭취로 이어질 수 있음.
오답 분석
① 소화기관 기능 강화에 대한 내용은 없음.
③ 식사 조절 체계는 고체 음식을 더 효과적으로 조절

함.
④ 카페인이 체내 수분량을 증가시킨다는 내용 없음.
⑤ 액체 칼로리는 고체 음식보다 포만감을 덜 제공함.

9) 정답 분석
③ 명확한 전략을 가진 광고는 효과적으로 메시지를 전

달할 수 있다.
 근거: "With such focus, the ad is able to deliver its 

singular message on the many levels in which 
advertising communicates."

명확한 전략이 광고 메시지를 효과적으로 전달할 수 있
게 함.

오답 분석
① 다양한 메시지의 동시 전달은 혼란을 야기함.
② 예산보다 전략적 명확성이 강조됨.
④ 소비자의 감정에 대한 언급은 없음.
⑤ 창의성보다는 전략의 명확성이 강조됨.

10) 정답 분석
③ 언어 학습자에게는 단어의 의미뿐 아니라 그 이면의 

개념도 이해하는 것이 중요하다.
 근거: "It is important for those teaching children at 

early stages of the acquisition of English in our 
schools to attend to building the understanding 
of meanings behind the labels of the words and 
phrases being taught."

단어의 표면적인 의미뿐 아니라 그 이면의 의미까지 이
해하는 것이 중요함.

오답 분석
① 언어는 시간이 지남에 따라 의미가 변화함.
② 의미 변화가 항상 학습자에게 도움이 되는 것은 아

님.
④ 모든 사회 계층에서 의미 변화가 발생할 수 있음.
⑤ 기술적 진보보다는 사회적 상호작용이 더 큰 영향을 

미침.

11) 정답 분석
③ 장기적인 목표를 달성하기 위해서는 즉각적인 만족

을 참는 것이 중요하다.
 근거: "Delayed gratification is our ability to resist 

these temptations of instant pleasure, allowing us 
to stay focused on our long-term goals."

즉각적인 만족을 억제하는 능력이 장기 목표에 집중할 
수 있도록 돕는다는 내용이 명확히 설명됨.

오답 분석
① 즉각적인 만족보다는 장기적인 목표 달성이 더 중요

하게 강조됨.
② 단기적인 이익보다는 장기적인 시각이 강조됨.
④ 소비 습관은 개인의 성향과 긴밀히 연결됨.
⑤ 금전적 목표는 자신의 감정보다는 장기적인 계획과 

절제력에 기반해야 함.

12) 정답 분석
② 새로운 도구와 기술은 과학의 발전에 필수적이다.
 근거: "New technologies and procedures are crucial 

to the progress of science."
새로운 기술과 절차가 과학 발전에 필수적이라는 점을 

명확히 설명하고 있음.
오답 분석
① 도구의 불확실성은 도전 요소일 수 있으나, 연구를 

방해한다고 단정짓지 않음.
③ 동일한 도구로 실험해야 한다는 내용 없음.
④ 이론보다는 실험과 도구의 발전이 강조됨.
⑤ 기존 방법을 고수하기보다는 새로운 기술 도입이 강

조됨.

13) 정답: ② The importance of measuring marketing 
performance for profit management

 정답 분석
근거 문장:
"Measurement of marketing activities is needed to 

assess past performance as well as set a future 
marketing strategy."

설명:
이 글은 마케팅 활동의 측정이 수익성 관리에서 중요한 

역할을 한다는 점을 강조하고 있다. 효과적인 마케
팅 전략 수립과 수익성 증대를 위해 성과 측정이 필
수적임을 강조한다.

 오답 분석
① 기술의 역할은 전혀 언급되지 않는다.
③ 직원 만족도와 조직 성공의 관계는 논의되지 않는

다.
④ 경쟁과 가격 전략 간의 관계는 주제가 아니다.
⑤ 브랜드와 고객 충성도에 대한 언급은 없다. 

14) 정답: ① The psychological satisfaction of 
achieving closure

 정답 분석
근거 문장:
"This constellation of needs for closure often helps 

drive wonder, especially when there is a need to 
close an explanatory gap."

설명:
이 글은 인간이 궁금증을 해소하고 결말을 찾으려는 본

능적 욕구에서 심리적 만족감을 얻는다는 점에 초점
을 맞추고 있다.

 오답 분석
② 이야기보다는 결말에 대한 본능적 욕구가 주제다.
③ 문제 해결보다는 심리적 만족감이 핵심이다.
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④ 사회적 상호작용에 대한 내용은 없다.
⑤ 기억력에 대한 논의는 이루어지지 않았다.

15) 정답: ③ The impact of local competition on 
newspaper circulation

 정답 분석
근거 문장:
"Different papers competing in the same towns 

chose to limit or spread out their physical 
distribution and editorial coverage to different 
radial distances from the central city."

설명:
미국 신문사들이 서로 경쟁하며 지역 내 유통 범위를 

조정하는 방식에 초점을 두고 있다.
 오답 분석
① 언론의 역사적 발전이 아니라 지역 경쟁이 중심 주

제이다.
② 운송 수단의 발전은 보조적 요소로만 등장한다.
④ 미국과 유럽 언론의 차이는 언급되지만 주제가 아니

다.
⑤ 현대 기술과의 연관성은 나타나지 않는다.

16) 정답: ① The transformation of scientific views on 
Earth's water cycle

 정답 분석
근거 문장:
"In recent years, the once-accepted view of the 

water cycle has changed, and wind's role in 
atmospheric circulation has found greater 
appreciation."

설명:
글은 물의 순환에 대한 과거의 관점이 변화했으며, 특

히 숲과 바람의 역할이 새롭게 인식되었다는 점을 
중점적으로 설명하고 있다.

 오답 분석
② 기후 변화가 아닌 자연 순환 구조의 변화가 주제이

다.
③ 바다는 주된 논점이 아니다.
④ 기압 시스템에 대한 설명은 나오지 않는다.
⑤ 물 자원의 보존과는 관련이 없다.

17) 정답: ③ How social changes can lead to the 
disappearance of language varieties

 정답 분석
근거 문장:
"An earlier variety might cease to be used when a 

social group undergoes significant changes across 
generations."

설명:
이 글은 사회 집단이 세대를 거치면서 변화할 때 언어

의 특정 형태가 사라질 수 있다는 점을 강조하고 있
다.

 오답 분석
① 초기 아동기의 언어 발달은 주된 주제가 아니다.

② 이민은 사례로 등장하지만 중심 주제는 아니다.
④ 세계화와의 관련성은 언급되지 않는다.
⑤ 문화적 정체성과 언어의 관계에 대한 언급은 없다.

18) 정답: ③ The relationship between brain neurons 
and pain perception

 정답 분석
근거 문장:
"The excitement of the brain pain neurons in turn 

asserts a presence in our consciousness."
설명:
이 글은 뇌의 신경 세포들이 어떻게 통증을 인지시키는

지, 자극이 뇌로 전달되는 과정을 중심으로 설명하
고 있다.

 오답 분석
① 의식의 압도 현상보다는 통증 인식 메커니즘이 주제

이다.
② 단계별 과정보다는 통증 인식의 원리에 초점을 맞추

고 있다.
④ 감정적 자극에 대한 내용은 언급되지 않는다.
⑤ 의료 개입보다는 신경 메커니즘에 집중하고 있다.

19) 정답: ① Effective communication strategies in 
high-conflict environments

 정답 분석
근거 문장:
"To develop appropriate communication skills for 

dealing with conflict is, therefore, essential."
설명:
글은 갈등 상황에서 효과적으로 대응하기 위한 커뮤니

케이션 전략의 중요성을 강조하고 있다.
 오답 분석
② 감정적 부담이 아닌 갈등 해결 전략이 중심이다.
③ 팀워크보다는 개인의 커뮤니케이션 기술에 집중하고 

있다.
④ 공감 능력보다는 갈등 해결 방법이 주제이다.
⑤ 개인 권리와 공공 안전의 균형은 언급되지 않는다.

20) 정답: ① The consequences of consuming liquid 
calories

 정답 분석
근거 문장:
"Drinking bypasses lots of our natural food control 

system... Without the fibre in the juice, the sugar 
sends us on a rollercoaster of energy cycles."

설명:
이 글은 음료 형태로 섭취된 칼로리가 우리 몸의 자연

적인 식욕 조절 시스템을 우회하면서 에너지 수준에 
부정적인 영향을 미친다는 점을 강조하고 있다.

 오답 분석
② 카페인과 설탕의 상호작용보다는 음료의 소비 자체

에 초점이 맞춰져 있다.
③ 섬유질의 소화 기능은 중심 주제가 아니다.
④ 수분 섭취에 대한 내용은 나오지 않는다.
⑤ 대사율에 대한 언급도 없다.



 2026 수능특강 영어독해연습 변형문제 [6강]

- 65 -

21) 정답: ② How a clear strategy enhances ad 
effectiveness

 정답 분석
근거 문장:
"That's the difference between an ineffective ad with 

a fuzzy strategy and an effective ad with a 
focused strategy."

설명:
글은 광고 전략이 명확할수록 소비자가 메시지를 쉽게 

이해하고, 그로 인해 광고의 효과가 커진다는 점을 
강조한다.

 오답 분석
① 복잡성의 위험보다는 전략의 명확성이 강조된다.
③ 시각적 광고의 심리적 효과는 논의되지 않는다.
④ 브랜드 전략보다는 광고 전략의 명확성이 주제이다.
⑤ 감정적 호소에 대한 언급은 없다.

22) 정답: ③ The importance of understanding word 
meanings in language learning

 정답 분석
근거 문장:
"It is important for those teaching children at early 

stages of the acquisition of English in our schools 
to attend to building the understanding of 
meanings behind the labels of the words and 
phrases being taught."

설명:
이 글은 언어 습득 초기 단계에서 단어와 구의 의미를 

이해시키는 것이 중요하다는 점을 강조하고 있다.
 오답 분석
① 글로벌 커뮤니케이션과의 관련성은 없다.
② 추상적 개념의 가르침보다는 단어 의미의 이해에 초

점이 있다.
④ 어린 시절의 경험보다는 언어 교육의 접근 방식에 

초점을 두고 있다.
⑤ 인지 유연성과의 관계는 논의되지 않는다.

23) 정답: ② How self-discipline leads to long-term 
rewards

 정답 분석
근거 문장:
"Taking a longer-term view and developing 

self-discipline can result in bigger and better 
rewards in the future."

설명:
글은 자제력과 장기적인 시야가 미래의 더 큰 보상으로 

이어진다는 점을 강조하고 있다.
 오답 분석
① 예산 관리는 핵심 주제가 아니다.
③ 소비주의의 심리적 효과에 대한 내용은 없다.
④ 또래 압력에 대한 언급은 없다.
⑤ 저축 전략보다는 자기 훈련이 주제이다.

24) 정답: ② The role of new technologies in 
advancing science

 정답 분석
근거 문장:
"The development of new tools allows scientists to 

answer questions they could not answer in the 
past, and the answers to those questions will lead 
to new questions, and so on."

설명:
글은 새로운 기술이 과학 발전의 필수적인 요소로 작용

한다는 점을 강조하고 있다.
 오답 분석
① 회의론보다는 기술 발전이 중심 주제이다.
③ 협력에 대한 언급은 없다.
④ 대중의 인식은 논의되지 않는다.
⑤ 이론과 실험의 관계는 중심 내용이 아니다.

25) 정답 분석
 ② How Marketing Performance Measurement Drives 

Profitability
 근거 문장:
"Profits are managed not only by setting a pricing 

strategy to maximize revenues and control costs; 
they are also influenced by a commitment to 
measure marketing performance."

지문은 마케팅 성과 측정이 수익성에 어떤 영향을 미치
는지를 중심으로 다루고 있으며, 이를 통해 미래 전
략 수립의 중요성을 강조하므로 How Marketing 
Performance Measurement Drives Profitability가 가
장 적절한 제목이다.

오답 분석
 ① The Impact of Employee Performance on 

Company Profits → (의미 왜곡: 직원 성과가 아니
라 마케팅 성과 측정이 주제임)

 ③ The Role of Customer Feedback in Business 
Growth → (언급 없음: 고객 피드백에 대한 내용은 
다루지 않음)

 ④ Strategies for Cutting Costs in Large 
Organizations → (부분적으로 맞음: 비용 관리 언급
은 있지만, 핵심은 마케팅 성과 측정임)

 ⑤ The History of Pricing Strategies in Modern 
Business → (지나치게 구체적: 가격 전략의 역사에 
대한 논의는 없음)

26) 정답 분석
 ② How the Need for Closure Drives Human 

Curiosity
 근거 문장:
"This constellation of needs for closure often helps 

drive wonder, especially when there is a need to 
close an explanatory gap."

지문은 인간의 인지적 특성 중 하나인 '완성 욕구(need 
for closure)'가 호기심을 자극하고, 퍼즐 맞추기, 이
야기의 결말 듣기 등에서 그 욕구가 어떻게 드러나
는지를 설명하므로 How the Need for Closure 
Drives Human Curiosity가 가장 적절한 제목이다.

오답 분석
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 ① The Psychological Benefits of Solving Puzzles → 
(부분적으로 맞음: 퍼즐에 대한 언급은 있지만, 전체 
주제가 아님)

 ③ Exploring Cognitive Development in Infants → 
(지나치게 구체적: 유아 발달이 주제가 아님)

 ④ The Role of Surprise in Entertainment → (의미 
왜곡: 놀라움이 아니라 '완성 욕구'가 핵심임)

 ⑤ The Influence of Childhood Experiences on Adult 
Behavior → (언급 없음: 어린 시절 경험이 성인 행
동에 미치는 영향에 대한 내용 없음)

27) 정답 분석
 ① The Influence of Transportation on U.S. 

Newspaper Distribution
 근거 문장:
"Streetcars at the end of the 19th century, and 

motor trucks in the 20th permitted timely delivery 
of newspapers over larger regions."

지문은 미국 신문의 지역적 배급이 교통수단의 발전에 
어떻게 영향을 받았는지 설명하고 있으며, 이는 신
문 배포 범위 확장과 관련이 있으므로 The 
Influence of Transportation on U.S. Newspaper 
Distribution가 가장 적절한 제목이다.

오답 분석
 ② A Comparative Study of European and U.S. 

Media Coverage → (부분적으로 맞음: 유럽과 미국 
비교가 언급되긴 하지만, 핵심 내용이 아님)

 ③ The Evolution of Editorial Policies in American 
Journalism → (의미 왜곡: 편집 정책 변화에 대한 
논의는 없음)

 ④ How Digital Media Transformed Local News 
Reporting → (언급 없음: 디지털 미디어 관련 내용 
없음)

 ⑤ The Rise of Afternoon Newspapers in Urban 
Areas → (지나치게 구체적: 오후 신문에 대한 집중 
논의는 없음)

28) 정답 분석
 ① How Wind Influences Earth's Water Cycle
 근거 문장:
"In recent years, the once-accepted view of the 

water cycle has changed, and wind's role in 
atmospheric circulation has found greater 
appreciation."

지문은 바람이 지구의 물 순환에서 차지하는 중요한 역
할을 중심으로 설명하고 있으므로 How Wind 
Influences Earth's Water Cycle가 가장 적절한 제목
이다.

오답 분석
 ② The Role of Oceans in Global Rainfall Patterns → 

(의미 왜곡: 바다가 아닌 숲과 바람이 핵심임)
 ③ The Ecological Importance of Rainforests → (부분

적으로 맞음: 숲에 대한 언급은 있으나, 중심 주제가 
아님)

 ④ A Historical View of Weather Patterns → (지나치
게 일반화: 역사적 관점보다는 과학적 발견에 초점)

 ⑤ The Discovery of New Atmospheric Phenomena 

→ (언급 없음: 새로운 대기 현상에 대한 내용은 없
음)

29) 정답 분석
 ② How Social Change Can Lead to Language 

Extinction
 근거 문장:
"However, when a social group undergoes significant 

changes across generations leading to the need 
for a different type of communication, an earlier 
variety might cease to be used."

지문은 사회적 변화로 인해 기존 언어가 사라질 수 있
다는 점을 중심으로 설명하며, 그 사례로 파라과이 
이민자들의 영어 사용 중단을 들고 있으므로 How 
Social Change Can Lead to Language Extinction이 
가장 적절한 제목이다.

오답 분석
 ① The Influence of Caregivers on Early Language 

Development → (부분적으로 맞음: 초기 언어 발달 
언급은 있지만 중심 주제가 아님)

 ③ The Role of Multilingualism in Modern Society → 
(의미 왜곡: 다중언어 사용에 대한 내용이 아님)

 ④ Language Variation Among Different Age Groups 
→ (지나치게 구체적: 연령별 언어 차이가 주제가 아
님)

 ⑤ The Evolution of English in South America → (부
분적으로 맞음: 파라과이 사례는 있지만 중심 주제
가 아님)

30) 정답 분석
 ② How Pain Signals Are Processed in the Brain
 근거 문장:
"The signal is relayed by a chain of neurons up the 

spine of the individual to a special place in the 
brain. The excitement of the brain pain neurons 
in turn asserts a presence in our consciousness."

지문은 고통이 외부 자극에 대한 신경학적 반응으로 발
생하며, 뇌에서 어떻게 처리되는지를 중심으로 설명
하므로 How Pain Signals Are Processed in the 
Brain가 가장 적절한 제목이다.

오답 분석
 ① The Role of Pain in Human Evolution → (언급 없

음: 진화적 관점에 대한 내용 없음)
 ③ The Psychological Effects of Chronic Pain → (의

미 왜곡: 만성 통증에 대한 심리적 영향은 다루지 
않음)

 ④ Understanding the Emotional Impact of Injuries 
→ (지나치게 구체적: 감정적 영향이 아닌 뇌의 신경 
처리 과정이 중심)

 ⑤ Advances in Pain Management Techniques → (언
급 없음: 치료법이나 기술적 발전에 대한 내용 없음)

31) 정답 분석
 ② How Conflict Shapes Decision-Making in Social 

Work
 근거 문장:
"Conflict is at the very heart of people-work, 
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especially for professionals such as social workers, 
police and probation officers, who are often 
required to balance individual rights and freedoms 
against risks and harm to others."

지문은 사회복지사, 경찰관 등의 직업에서 발생하는 갈
등이 의사 결정에 어떻게 영향을 미치는지를 설명하
고 있으므로 How Conflict Shapes Decision-Making 
in Social Work가 가장 적절한 제목이다.

오답 분석
 ① The Importance of Teamwork in Healthcare → 

(의미 왜곡: 팀워크보다는 갈등이 중심 주제임)
 ③ The Psychological Burden of Social Workers → 

(부분적으로 맞음: 사회복지사 언급은 있지만 심리적 
부담이 주제가 아님)

 ④ Ethical Dilemmas in Mental Health Treatment → 
(지나치게 구체적: 정신 건강 치료에 한정된 윤리적 
딜레마 논의는 없음)

 ⑤ The Role of Communication in Reducing 
Workplace Stress → (언급 없음: 직장 내 스트레스 
감소에 대한 내용은 없음)

32) 정답 분석
 ② How Drinking Disrupts Natural Food Control 

Systems
 근거 문장:
"Drinking bypasses lots of our natural food control 

system. Just think how easy it is to drink a large 
glass of apple juice, yet you wouldn't sit down 
and eat eight apples in one sitting."

지문은 음료 섭취가 우리 몸의 자연적인 음식 통제 시
스템을 어떻게 우회하는지를 중심으로 설명하고 있
으므로 How Drinking Disrupts Natural Food 
Control Systems가 가장 적절한 제목이다.

오답 분석
 ① The Hidden Dangers of Sugary Drinks → (부분적

으로 맞음: 설탕 음료의 위험이 언급되긴 하지만 주
제가 아님)

 ③ The Role of Caffeine in Energy Cycles → (의미 
왜곡: 카페인이 중심 주제가 아님)

 ④ Understanding the Benefits of Natural Sugars → 
(의미 왜곡: 자연당의 이점에 대한 내용 없음)

 ⑤ A History of Beverage Consumption Patterns → 
(언급 없음: 음료 소비 패턴의 역사에 대한 내용 없
음)

33) 정답 분석
 ② How Focused Strategies Enhance Advertising 

Success
 근거 문장:
"But throw a single ball directly at the target and 

chances are, he or she will make the catch. That's 
the difference between an ineffective ad with a 
fuzzy strategy and an effective ad with a focused 
strategy."

지문은 광고 전략에서 초점을 맞춘 전략이 어떻게 효과
적인 결과를 도출하는지를 비유적으로 설명하고 있
으므로 How Focused Strategies Enhance 
Advertising Success가 가장 적절한 제목이다.

오답 분석
 ① The Psychology Behind Effective Advertising → 

(의미 왜곡: 광고 전략의 심리적 배경이 주제가 아
님)

 ③ The History of Modern Advertising Techniques → 
(언급 없음: 광고 기술의 역사에 대한 내용 없음)

 ④ Emotional Triggers in Consumer Behavior → (언
급 없음: 소비자 행동에서 감정적 자극에 대한 내용 
없음)

 ⑤ The Rise of Digital Marketing Strategies → (지나
치게 구체적: 디지털 마케팅에 대한 논의 없음)

34) 정답 분석
 ① The Evolution of Word Meanings Over Time
 근거 문장:
"We are all able to think of words which have 

changed their meanings, or acquired additional 
meanings, in our own lifetimes."

지문은 시간이 지나면서 단어의 의미가 변화하거나 새
로운 의미를 얻는 과정을 설명하고 있으므로 The 
Evolution of Word Meanings Over Time이 가장 적
절한 제목이다.

오답 분석
 ② How Language Barriers Affect Communication → 

(부분적으로 맞음: 언어 장벽이 언급되긴 하지만 중
심 주제가 아님)

 ③ The Impact of Technology on Language 
Development → (언급 없음: 기술이 언어 발달에 미
치는 영향은 없음)

 ④ Teaching Strategies for Early Language Learners 
→ (의미 왜곡: 교육 전략에 대한 논의는 없음)

 ⑤ The Role of Grammar in Effective Communication 
→ (지나치게 구체적: 문법보다는 의미 변화가 중심)

35) 정답 분석
 ② How Delayed Gratification Leads to Financial 

Success
 근거 문장:
"Delayed gratification is our ability to resist these 

temptations of instant pleasure, allowing us to 
stay focused on our long-term goals. It involves 
budgeting and spending mindfully, as well as 
developing discipline and patience to avoid 
impulse spending and decision making."

지문은 즉각적인 만족을 자제하고 장기적인 목표에 집
중함으로써 얻어지는 재정적 성공에 대해 설명하고 
있으므로 How Delayed Gratification Leads to 
Financial Success가 가장 적절한 제목이다.

오답 분석
 ① The Psychological Roots of Impulse Buying → 

(의미 왜곡: 충동 구매의 심리적 원인이 주제가 아
님)

 ③ The Impact of Consumerism on Modern Society 
→ (언급 없음: 소비주의가 현대 사회에 미치는 영향
은 다루지 않음)

 ④ The Role of Marketing in Shaping Financial 
Decisions → (언급 없음: 마케팅 전략이나 소비자 
결정에 대한 논의 없음)



 2026 수능특강 영어독해연습 변형문제 [6강]

- 68 -

 ⑤ Emotional Spending and Its Long-term 
Consequences → (부분적으로 맞음: 감정적 소비에 
대한 언급이 있지만 중심 주제가 아님)

36) 정답 분석
 ② How New Technologies Drive Scientific Progress
 근거 문장:
"The development of new tools allows scientists to 

answer questions they could not answer in the 
past, and the answers to those questions will lead 
to new questions, and so on. Therefore, new 
technologies and procedures are crucial to the 
progress of science."

지문은 새로운 기술과 도구가 과학적 발전에 어떻게 기
여하는지를 중심으로 설명하고 있으므로 How New 
Technologies Drive Scientific Progress가 가장 적절
한 제목이다.

오답 분석
 ① The Challenges of Scientific Experimentation → 

(부분적으로 맞음: 실험의 어려움이 언급되긴 하지만 
주제가 아님)

 ③ The Psychological Effects of Scientific Uncertainty 
→ (의미 왜곡: 과학적 불확실성의 심리적 효과가 주
제가 아님)

 ④ Replication and Skepticism in Modern Science → 
(부분적으로 맞음: 회의론과 실험 복제에 대한 언급
이 있으나 중심 주제가 아님)

 ⑤ The Impact of Artificial Intelligence on Research 
→ (언급 없음: 인공지능에 대한 내용 없음)

37)  정답: ③ Evaluating the relationship between 
revenue and costs for future strategy

 근거 문장: "Tracking performance in this case would 
enable a comparison of revenue generated with 
costs incurred to execute the promotion."

설명:
"Return on investment analysis"는 투자 대비 수익을 

분석해 수익과 비용의 관계를 파악하고, 이를 바탕
으로 미래 전략 수립에 활용하는 것이다.

38)  정답: ② All humans seek clarity in uncertain 
situations

 근거 문장: "They have a need to identify all the 
toys that are in a box, or explore every room of 
a new space."

설명:
"Achieve closure"는 불확실한 상황에서 명확한 결론이

나 완성된 상태를 얻으려는 인간의 본능적 욕구를 
의미한다.

39)  정답: ③ Competing newspapers strategically 
adjust their distribution range

 근거 문장: "Different papers competing in the same 
towns chose to limit or spread out their physical 
distribution and editorial coverage to different 

radial distances from the central city."
설명:
경쟁하는 신문사들은 배포 범위를 전략적으로 조정하여 

독자를 확보한다.

40)  정답: ③ Large volumes of moisture travel via 
wind, causing rainfall elsewhere

 근거 문장: "Prevailing winds transport the water 
through the air, delivering rainfall to other 
locations."

설명:
"Flying river"는 대량의 수분이 바람에 의해 이동하면서 

다른 지역에 비를 내리게 하는 현상을 의미한다.

41)  정답: ② Social change can lead to the 
disappearance of earlier language forms

 근거 문장: "when a social group undergoes 
significant changes across generations leading to 
the need for a different type of communication."

설명:
세대 간 변화로 인해 기존 언어 형태가 사라질 수 있

다.

42)  정답: ③ Pain perception becomes conscious 
through brain stimulation

 근거 문장: "The excitement of the brain pain 
neurons in turn asserts a presence in our 
consciousness."

설명:
통증 자극은 뇌의 특정 신경세포가 활성화되면서 의식

적으로 인식된다.

43)  정답: ① Conflict is inevitable in professions 
dealing with people

 근거 문장: "Conflict is at the very heart of 
people-work, especially for professionals such as 
social workers, police, and probation officers."

설명:
사람을 다루는 직업에서는 개인의 권리와 타인의 안전 

사이에서 균형을 맞추는 과정에서 갈등이 필연적으
로 발생한다.

44)  정답: ① Beverages ignore our natural appetite 
control mechanisms

 근거 문장: "Just think how easy it is to drink a 
large glass of apple juice, yet you wouldn't sit 
down and eat eight apples in one sitting."

설명:
음료는 음식과 달리 자연적인 식욕 조절 기능을 우회하

기 때문에 과잉 섭취가 쉽게 발생할 수 있다.
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45)  정답: ② The core message of an ad should be 
simple and clear

 근거 문장: "It bores down to make its point rather 
than making a big mess of itself."

설명:
광고는 복잡한 정보 전달보다 명확하고 단순한 핵심 메

시지를 전달하는 것이 효과적이다.

46)  정답: ② Words are simple symbols that can 
express various meanings

 근거 문장: "This demonstrates how words are mere 
labels for constructs of meanings."

설명:
단어는 상황과 사용자의 해석에 따라 다양한 의미를 표

현할 수 있는 단순한 기호이다.

47)  정답: ② A comprehensive understanding of 
long-term outcomes and broader implications

 근거 문장: "Consider whether your goals are 
focused on short-term gains or designed to look 
forward to a bigger picture."

설명:
"A bigger picture"는 단기적인 이익에만 집중하는 것이 

아니라, 장기적인 성과와 전체적인 맥락을 고려하는 
포괄적인 관점을 의미한다.

48)  정답: ② A cautious attitude toward the validity 
of unfamiliar scientific methods

 근거 문장: "Other scientists unfamiliar with a new 
tool may express skepticism and call for others to 
replicate the experiments."

설명:
"This skepticism"은 새로운 과학적 도구나 기술에 대한 

신중한 태도를 의미하며, 그 유효성을 검증하기 위
한 반복 실험을 요구하는 경향을 나타낸다.

49) ✔ 정답: ② ineffectiveness → effectiveness
 정답 선택지 분석

 근거 문장:

"For example, it is important for a minor league 

baseball team to understand the effectiveness of 

Saturday night fireworks promotions in terms of the 

number of additional tickets sold and related 

spending from those customers.“

정답인 이유:

문맥상 프로모션의 '효과성(effectiveness)'을 평가하는 

것이 중요하며, 이는 티켓 판매와 지출 증가를 분석하

는 데 초점이 맞춰져 있다. 'ineffectiveness(비효율성)'로 

대체하면 긍정적 결과를 평가하려는 문맥과 반대되며 

논리가 왜곡된다.

50) ✔ 정답: ⑤ confusion → wonder
 정답 선택지 분석

 근거 문장:

"This constellation of needs for closure often helps 

drive wonder, especially when there is a need to 

close an explanatory gap."

정답인 이유:

문맥상 'wonder(호기심)'은 설명의 공백을 메우려는 긍

정적 동기로 작용한다. 이를 'confusion(혼란)'으로 대체

하면 긍정적 탐구 의지가 부정적 상태로 바뀌며 문맥이 

왜곡된다.

51) ✔ 정답: ④  minority →  bulk
 정답 선택지 분석

 근거 문장:

"By and large, however, the geographical area within 

which happenings were regularly reported as local 

news coincided with the area from which the 

newspaper drew the bulk of its readers."

정답인 이유:

문맥상 신문은 독자의 '대다수(bulk)'가 있는 지역에서 

뉴스를 보도한다. 이를 'minority(소수)'로 대체하면 독

자층의 주요 범위를 축소시키며 논리가 맞지 않게 된

다.

52) ✔ 정답: ③ condensation → transpiration 
 정답 선택지 분석

 근거 문장:

"In the last fifty years, that view has changed — it is 

now known that forests play a significant role in 

generating the transpiration that drives rainfall."

정답인 이유:

문맥상 'transpiration(증산 작용)'은 숲이 강우를 유도하

는 중요한 과정으로 설명된다. 이를 'condensation(응

결)'로 바꾸면 물이 기체에서 액체로 변하는 과정으로 

의미가 달라져 문맥과 맞지 않게 된다.

53) ✔ 정답: ⑤  uniformity → dialect
 정답 선택지 분석

 근거 문장:

"The only remaining language vestiges from those 

English-speaking immigrants are common Paraguayan 

last names like Kennedy, Smith, Stanley, and Wood, 

rather than a fully preserved dialect."

정답인 이유:

문맥상 이민자들의 언어가 '방언(dialect)'으로 완전히 

보존되지 않고 일부 흔적만 남았음을 설명한다. 
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'uniformity(획일성)'으로 대체하면 언어의 다양성이 유

지되지 않았다는 문맥과 반대되며 어색해진다.

54) ✔ 정답: ③  suppressed →  triggered
 정답 선택지 분석

 근거 문장:

"If it is a bee sting, where the bee leaves noxious 

liquids at the sting site, more neurons at the site of 

the sting are triggered than with a mosquito."

정답인 이유:

문맥상 벌침은 모기보다 더 많은 신경을 '유발

(triggered)'하여 더 강한 통증을 전달한다. 이를 

'suppressed(억제된)'로 바꾸면 통증 반응이 약화된다는 

의미가 되어 문맥과 반대된다.

55) ✔ 정답: ④ ineffectively → effectively
 정답 선택지 분석

 근거 문장:

"Within a multi-disciplinary hospital team, there could 

also be conflicting approaches to how to work most 

effectively with, or treat, a particular individual or 

family."

정답인 이유:

문맥상 병원 팀은 개인이나 가족을 '효과적으로

(effectively)' 다루기 위한 접근법에서 갈등이 생길 수 

있다고 설명한다. 'ineffectively(비효과적으로)'로 대체하

면 긍정적 해결책을 모색하는 문맥과 반대된다.

56) ✔ 정답: ③  surge→ crash
 정답 선택지 분석

 근거 문장:

"Without the fibre in the juice, the sugar sends us 

on a rollercoaster of energy cycles, starting with a 

boost and ending in a crash."

정답인 이유:

문맥상 설탕은 에너지 '급락(crash)'으로 이어지는 부정

적 결과를 초래한다. 이를 'surge(급등)'으로 바꾸면 에

너지 하락이 아닌 상승을 의미하여 문맥이 왜곡된다.

57) ✔ 정답: ⑤  miss → catch 
 정답 선택지 분석

 근거 문장:

"But throw a single ball directly at the target and 

chances are, he or she will make the catch."

정답인 이유:

문맥상 단일 메시지를 전달하면 성공적으로 '잡을

(catch)' 가능성이 높다고 설명한다. 이를 'miss(놓치다)'

로 대체하면 효과적인 광고의 결과를 부정하며 문맥과 

반대된다.

58) ✔ 정답: ③ convenience → difficulties
 정답 선택지 분석

 근거 문장:

"For those who are learning English as an additional 

language, apprehension of English forms and 

structures, and their meanings may pose difficulties."

정답인 이유:

문맥상 영어를 추가 언어로 배우는 사람들은 이해에 '

어려움(difficulties)'을 겪을 수 있다고 설명한다. 이를 

'convenience (편리함)으로 바꾸면 학습의 도전 과정을 

부정하며 문맥이 왜곡된다.

59) ✔ 정답: ② → penalties →  rewards 
 정답 선택지 분석

 근거 문장:

"Even though choosing something now may feel 

good in the moment, taking a longer-term view and 

developing self-discipline can result in bigger and 

better rewards in the future."

정답인 이유:

문맥상 장기적 관점과 자제력은 '보상(rewards)'을 가져

온다고 설명한다. 이를 'penalties(벌칙)'으로 대체하면 

긍정적 결과를 부정적 결과로 바꾸며 문맥이 왜곡된다.

60) ✔ 정답: ② regression  → progress  
 정답 선택지 분석

 근거 문장:

"Therefore, new technologies and procedures are 

crucial to the progress of science."

정답인 이유:

문맥상 새로운 기술과 절차는 과학의 '진보(progress)'에 

필수적이라고 설명한다. 이를 'regression(퇴행)'으로 바

꾸면 과학 발전이라는 긍정적 흐름이 부정적으로 뒤바

뀌며 문맥과 맞지 않게 된다.

61)  정답: ② return on investment analysis
 근거 문장: "Such return on investment analysis 

should be performed whenever possible to 

understand the relationship between marketing 

investment and profits..."

정답인 이유: 원문에서 비용 대비 수익을 분석하는 
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과정을 설명하며 직접적으로 "return on 

investment analysis"를 언급하고 있습니다.

 오답 분석:

① competitor analysis → 경쟁사 분석은 본문에서 

다루지 않음

③ customer satisfaction survey → 고객 만족도 

조사가 아닌 비용 대비 수익 분석에 대해 언급함

④ promotional timing strategy → 프로모션 타이

밍 전략이 아닌 마케팅 투자와 수익 간의 관계 분

석에 초점을 둠

⑤ market segmentation research → 시장 세분화 

연구가 아닌 마케팅 활동의 수익성 측정에 대해 

설명함

62)  정답: ③ wonder
 근거 문장: "This constellation of needs for 

closure often helps drive wonder, especially 

when there is a need to close an explanatory 

gap."

정답인 이유: 원문에서 직접적으로 "closure often 

helps drive wonder"라고 언급하고 있습니다.

 오답 분석:

① skepticism → 회의주의는 본문에서 다루지 않

음

② creativity → 창의성은 언급되지 않았으며 완결

성(closure)과 경이로움(wonder)의 관계가 핵심임

④ anxiety → 불안감이 아닌 경이로움(wonder)이 

완결성 욕구에서 비롯된다고 설명함

⑤ competition → 경쟁은 본문의 주제와 관련이 

없음

63)  정답: ④ coincided with
 근거 문장: "By and large, however, the 

geographical area within which happenings were 

regularly reported as local news coincided with 

the area from which the newspaper drew the 

bulk of its readers."

정답인 이유: 원문에서 직접적으로 "coincided 

with"(일치했다)라고 언급하고 있습니다.

 오답 분석:

① rarely matched → 원문은 일치했다고 하므로 "

거의 일치하지 않았다"는 의미는 반대됨

② partially overlapped with → 부분적으로 겹쳤

다는 것이 아니라 일치했다고 설명함

③ extended far beyond → 크게 넘어섰다는 것이 

아니라 일치했다고 설명함

⑤ rapidly outgrew → 급속히 초과했다는 내용은 

언급되지 않음

64)  정답: ④ 'flying river'
 근거 문장: "When this water moves through the 

power of wind in large volumes, it becomes 

what meteorologist José Marengo called a 'flying 

river'."

정답인 이유: 원문에서 직접적으로 기상학자 José 

Marengo가 이를 'flying river'(비행하는 강)라고 불

렀다고 언급하고 있습니다.

 오답 분석:

① 'weather pattern' → 'weather pattern'이라는 

용어는 본문에서 언급되지 않음

② 'atmospheric river' → 'atmospheric river'가 아

닌 'flying river'라고 명확히 언급됨

③ 'cloud formation' → 구름 형성이 아닌 바람에 

의한 수분 이동 현상을 지칭함

⑤ 'rainfall cycle' → 강우 순환이 아닌 바람에 의

해 이동하는 대규모 수분을 지칭하는 특정 용어를 

언급함

65)  정답: ③ common Paraguayan last names
 근거 문장: "The only remaining language 

vestiges from those English-speaking immigrants 

are common Paraguayan last names like 

Kennedy, Smith, Stanley, and Wood."

정답인 이유: 원문에서 직접적으로 "common 

Paraguayan last names"(파라과이의 흔한 성씨들)

이라고 언급하고 있습니다.

 오답 분석:

① traditional farming terms → 전통적 농업 용어

는 본문에서 언급되지 않음

② distinctive accent features → 특징적인 억양은 

본문에서 다루지 않음

④ Australian slang expressions → 호주 속어 표

현은 언급되지 않음

⑤ bilingual education programs → 이중 언어 교

육 프로그램은 본문에서 다루지 않음

66)  정답: ② continuously fire the signal
 근거 문장: "Torn flesh will continuously fire the 

signal until medical treatment deals with the 
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problem."

정답인 이유: 원문에서 직접적으로 "continuously 

fire the signal"(계속해서 신호를 발사한다)라고 언

급하고 있습니다.

 오답 분석:

① release natural painkillers → 자연적 진통제 분

비는 본문에서 언급되지 않음

③ gradually reduce sensitivity → 감각의 점진적 

감소가 아닌 지속적인 신호 발사를 언급함

④ trigger an immune response → 면역 반응 유

발은 본문에서 다루지 않음

⑤ send conflicting messages → 상충된 메시지가 

아닌 지속적인 통증 신호를 언급함

67)  정답: ② communication skills
 근거 문장: "To develop appropriate 

communication skills for dealing with conflict is, 

therefore, essential."

정답인 이유: 원문에서 직접적으로 

"communication skills"(의사소통 기술)이라고 언급

하고 있습니다.

 오답 분석:

① financial resources → 재정적 자원은 본문에서 

언급되지 않음

③ legal frameworks → 법적 체계는 본문에서 다

루지 않음

④ supervision protocols → 감독 프로토콜은 언급

되지 않음

⑤ educational backgrounds → 교육적 배경은 본

문에서 다루지 않음

68)  정답: ③ an extra meal
 근거 문장: "...yet large coffee shop chains take 

great delight in selling us expensive, iced or 

cream-topped drinks that are equivalent to an 

extra meal, but will simply not register as one..."

정답인 이유: 원문에서 직접적으로 커피숍에서 파

는 음료가 "an extra meal"(추가 식사)에 해당한다

고 언급하고 있습니다.

 오답 분석:

① a daily vitamin intake → 일일 비타민 섭취는 

본문에서 언급되지 않음

② a healthy workout routine → 건강한 운동 루

틴은 언급되지 않음

④ a hydration booster → 수분 공급 촉진제가 아

닌 추가 식사에 해당한다고 설명함

⑤ a cognitive enhancer → 인지 향상제는 본문에

서 다루지 않음

69)  정답: ④ an ineffective ad with a fuzzy strategy
 근거 문장: "That's the difference between an 

ineffective ad with a fuzzy strategy and an 

effective ad with a focused strategy."

정답인 이유: 원문에서 직접적으로 "an ineffective 

ad with a fuzzy strategy"(명확하지 않은 전략을 

가진 효과 없는 광고)라고 언급하고 있습니다.

 오답 분석:

① a creative ad with vivid imagery → 생생한 이

미지의 창의적 광고는 본문에서 언급되지 않음

② an expensive ad with celebrity endorsements 

→ 유명인 광고는 본문에서 다루지 않음

③ a humorous ad with memorable punchlines 

→ 유머러스한 광고는 언급되지 않음

⑤ a digital ad with high-tech features → 첨단 

기술 디지털 광고는 본문에서 다루지 않음

70)  정답: ③ meanings
 근거 문장: "...it is important for those teaching 

children at early stages of the acquisition of 

English in our schools to attend to building the 

understanding of meanings behind the labels of 

the words and phrases being taught."

정답인 이유: 원문에서 직접적으로 "meanings"(의

미)라고 언급하고 있습니다.

 오답 분석:

① cultural references → 문화적 참조는 본문에서 

언급되지 않음

② grammar rules → 문법 규칙이 아닌 단어 자체

의 의미에 초점을 맞춤

④ pronunciation patterns → 발음 패턴은 본문에

서 다루지 않음

⑤ spelling variations → 철자 변형은 언급되지 않

음

71)  정답: ④ Delayed gratification
 근거 문장: "Delayed gratification is our ability 

to resist these temptations of instant pleasure, 

allowing us to stay focused on our long-term 

goals."

정답인 이유: 원문에서 직접적으로 "Delayed 

gratification"(지연된 만족)이라고 언급하고 있습니
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다.

 오답 분석:

① Emotional intelligence → 감성 지능은 본문에

서 언급되지 않음

② Financial literacy → 재정 이해력이 아닌 지연

된 만족이라는 구체적 개념을 설명함

③ Impulse control → 충동 조절은 지연된 만족의 

일부일 수 있지만, 직접적으로 언급된 개념은 아님

⑤ Career planning → 경력 계획은 본문에서 다루

지 않음

72)  정답: ③ time and future experiments
 근거 문장: "However, if a new technique is the 

source of the uncertainty, time and future 

experiments will confirm or disconfirm its 

usefulness and clear up uncertainty."

정답인 이유: 원문에서 직접적으로 "time and 

future experiments"(시간과 미래의 실험들)이라고 

언급하고 있습니다.

 오답 분석:

① direct community input → 직접적인 커뮤니티 

의견은 본문에서 언급되지 않음

② immediate policy changes → 즉각적인 정책 

변화는 언급되지 않음

④ expert consensus alone → 전문가 합의만으로

는 아니라 시간과 추가 실험이 필요하다고 설명함

⑤ public opinion polls → 여론 조사는 본문에서 

다루지 않음

73) 정답: ② (B) - (A) - (C)
정답 선택지 분석
B → A
B에서 "Measurement of marketing activities is 

needed to assess past performance as well as set 
a future marketing strategy."라고 하며 마케팅 활동
의 측정이 중요함을 강조함.

A에서 "For example, it is important for a minor 
league baseball team to understand the 
effectiveness of Saturday night fireworks 
promotions"라고 하며 B에서 언급한 마케팅 측정의 
필요성을 구체적인 사례로 설명함.

A → C
A에서 "Tracking performance in this case would 

enable a comparison of revenue generated with 
costs incurred"라고 하며 마케팅 성과를 측정하는 
과정을 설명함.

C에서 "Such return on investment analysis should be 
performed whenever possible"라고 하며 A에서 언
급된 분석이 지속적으로 이루어져야 함을 강조함.

핵심 요약

B: 마케팅 성과 측정이 중요함
A: 마케팅 측정의 구체적인 사례(야구팀의 프로모션)
C: ROI 분석을 지속적으로 수행해야 함

 
74) 정답: ② (B) - (A) - (C)
정답 선택지 분석
B → A
B에서 "The players know exactly what the end result 

will look like and are rarely startled midway."라고 
하며 퍼즐 맞추기의 폐쇄 욕구를 설명함.

A에서 "When exploring a new place such as a house 
or a park, we often want to get a clear sense of 
the overall layout"라고 하며 B의 논의를 확장하여 
인간의 전반적인 폐쇄 욕구로 연결함.

A → C
A에서 "They have a need to identify all the toys that 

are in a box, or explore every room of a new 
space."라고 하며 폐쇄 욕구가 다양한 상황에서 나
타난다고 설명함.

C에서 "They have similar needs for closure in their 
causal models of how things happen."라고 하며 
폐쇄 욕구가 인과적 사고와 연결됨을 설명함.

핵심 요약
B: 퍼즐 맞추기의 폐쇄 욕구
A: 폐쇄 욕구는 공간 탐색에서도 나타남
C: 폐쇄 욕구는 인과적 사고와도 연결됨

75) 정답: ⑤ (C) - (B) - (A)
정답 선택지 분석
C → B
C에서 "Streetcars at the end of the 19th century, 

and motor trucks in the 20th permitted timely 
delivery of newspapers over larger regions."라고 
하며 신문 배포 방식의 발전을 설명함.

B에서 "Morning newspapers printed during the night 
were, of course, able to distribute over a wider 
range than afternoon papers."라고 하며 C에서 설
명한 발전이 신문 배포 방식에 어떤 영향을 미쳤는
지를 설명함.

B → A
B에서 "Morning newspapers... able to distribute over 

a wider range"라고 하며 신문이 배포 범위를 확장
했음을 설명함.

A에서 "By and large, however, the geographical area 
within which happenings were regularly reported 
as local news coincided with the area from which 
the newspaper drew the bulk of its readers."라고 
하며 결국 신문이 지역 독자층 중심으로 유지된다는 
점을 강조함.

핵심 요약
C: 신문 배포 방식이 발전함
B: 배포 방식에 따라 아침 신문이 더 넓은 지역에 퍼짐
A: 그러나 여전히 지역 뉴스 중심으로 운영됨

76) 정답: ① (A) - (C) - (B)



 2026 수능특강 영어독해연습 변형문제 [6강]

- 74 -

정답 선택지 분석
A → C
A에서 "Traditionally, it was thought that the planet's 

water cycle mostly involved evaporated moisture"
라고 하며 기존의 물 순환 개념을 설명함.

C에서 "The various plants that live within forests 
capture water in their roots"라고 하며 A에서 언급
된 개념이 최근 연구로 인해 확장되었음을 보여줌.

C → B
C에서 "The various plants that live within forests 

capture water in their roots"라고 하며 숲이 물 순
환에 중요한 역할을 한다고 설명함.

B에서 "Prevailing winds transport the water through 
the air"라고 하며 C에서 언급된 물이 어떻게 이동
하는지를 설명하며 연결됨.

핵심 요약
A: 기존에는 물 순환이 증발과 바람의 역할로만 설명됨
C: 최근 연구에 따르면 숲이 물 순환에서 중요한 역할

을 함
B: 바람이 물을 다른 지역으로 운반함

77) 정답: ⑤ (C) - (B) - (A)
정답 선택지 분석
C → B
C에서 "This results in social varieties of language 

with differences for class, ethnicity, and age as 
well as gender and gender expression."라고 하며 
사회적 요인이 언어에 영향을 미친다고 설명함.

B에서 "However, when a social group undergoes 
significant changes across generations"라고 하며 
사회 변화가 언어에 더 큰 변화를 일으킬 수 있음을 
설명함.

B → A
B에서 "An earlier variety might cease to be used."라

고 하며 언어의 소멸 가능성을 설명함.
A에서 "This occurred with the English initially spoken 

in Cosme and Nueva Australia."라고 하며 실제 사
례를 제시함.

핵심 요약
C: 사회적 요인이 언어의 변화를 초래함
B: 사회 변화로 인해 특정 언어가 사라질 수 있음
A: 실제로 파라과이 이민자의 영어가 사라진 사례

78) 정답: ⑤ (C) - (B) - (A)
정답 선택지 분석
C → B
C에서 "The signal is relayed by a chain of neurons 

up the spine of the individual"라고 하며 신경 신
호 전달 과정을 설명함.

B에서 "Therefore, Signal is sent to the brain"라고 하
며 C의 내용을 이어받아 신호가 뇌로 전달되는 과
정을 설명함.

B → A
B에서 "with a stronger insertion into the individual's 

consciousness."라고 하며 강한 통증이 인식되는 과
정을 설명함.

A에서 "If a falling tree crushes a leg then many, 
many pain receptors are fired off"라고 하며 극심

한 통증이 발생하는 상황을 예시로 듦.
핵심 요약
C: 신경 신호가 척수를 통해 전달됨
B: 신호가 뇌로 가면서 통증이 강하게 인식됨
A: 극심한 통증이 발생하는 사례

79) 정답: ② (B) - (A) - (C)
정답 선택지 분석
B → A
B에서 "The very act of undertaking a risk assessment 

on an individual or family"라고 하며 위험 평가가 
갈등을 유발할 수 있음을 설명함.

A에서 "To remove a child 'at risk' from a family"라고 
하며 B에서 언급된 갈등의 실제 사례를 설명함.

A → C
A에서 "Within a multi-disciplinary hospital team, 

there could also be conflicting approaches"라고 하
며 더 넓은 갈등의 예를 제시함.

C에서 "To develop appropriate communication skills 
for dealing with conflict is, therefore, essential."라
고 하며 갈등 해결을 위한 기술이 필요함을 강조함.

핵심 요약
B: 위험 평가 자체가 갈등을 초래할 수 있음
A: 실제 사례(아동 보호, 정신질환 환자 입원)
C: 갈등 해결을 위한 소통 기술이 필수적임

80) 정답: ① (A) - (C) - (B)
정답 선택지 분석
A → C
A에서 "The whole apple contains fibre, which slows 

the release of the apple's sugar"라고 하며 섬유질
이 혈당 조절에 미치는 영향을 설명함.

C에서 "The crash may be just at the point when you 
are asked to stand up and present your ideas"라
고 하며 A에서 언급한 혈당 조절 문제로 인해 발생
할 수 있는 부정적 결과를 설명함.

C → B
C에서 "It's just not worth it."라고 하며 혈당 조절 문

제를 강조한 후,
B에서 "Sugary caffeine drinks have a similar, if not 

more profound, effect"라고 하며 카페인이 포함된 
음료가 유사한 문제를 야기함을 설명함.

핵심 요약
A: 섬유질이 없는 경우 혈당 조절이 어려움
C: 혈당 급락은 일상생활에 부정적인 영향을 미침
B: 설탕이 포함된 카페인 음료도 비슷한 문제를 유발함

 
81) 정답: ⑤ (C) - (B) - (A)
정답 선택지 분석
C → B
C에서 "It bores down to make its point rather than 

making a big mess of itself."라고 하며 광고 전략
의 초점을 맞추는 것이 중요하다고 설명함.

B에서 "This is not effective. Here's an analogy: Try 
throwing a dozen balls at someone all at once."라
고 하며 C에서 언급한 초점의 중요성을 비유로 강
조함.
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B → A
B에서 "But throw a single ball directly at the target 

and chances are, he or she will make the catch."
라고 하며 초점을 맞춘 광고가 효과적임을 설명함.

A에서 "That's the difference between an ineffective 
ad with a fuzzy strategy and an effective ad with 
a focused strategy."라고 하며 결론을 도출함.

핵심 요약
C: 광고 전략이 명확해야 효과적임
B: 명확한 전략의 중요성을 공을 던지는 비유로 설명
A: 초점이 맞춰진 광고와 그렇지 않은 광고의 차이

82) 정답: ② (B) - (A) - (C)
정답 선택지 분석
B → A
B에서 "This demonstrates how words are mere labels 

for constructs of meanings."라고 하며 단어의 의미 
변화 가능성을 설명함.

A에서 "For those who are learning English as an 
additional language, apprehension of English 
forms and structures, and their meanings may 
pose difficulties"라고 하며 B에서 언급된 개념이 외
국어 학습자에게 어떤 영향을 미치는지를 설명함.

A → C
A에서 "Gradually, with full fluency and the commerce 

of using the language, commonality of 
understanding will be generally achieved."라고 하
며 학습자가 언어를 습득하며 의미 차이를 극복할 
수 있다고 설명함.

C에서 "However, it is important for those teaching 
children at early stages of the acquisition of 
English"라고 하며 이를 돕기 위해 교사가 의미 지
도에 주의해야 한다고 설명함.

핵심 요약
B: 단어의 의미는 변할 수 있으며, 사람마다 다르게 인

식될 수 있음
A: 외국어 학습자는 이러한 의미 차이로 인해 어려움을 

겪을 수 있음
C: 따라서 영어 교사는 단어 의미의 차이를 명확하게 

가르쳐야 함

83) 정답: ① (A) - (C) - (B)
정답 선택지 분석
A → C
A에서 "Even though choosing something now may 

feel good in the moment, taking a longer-term 
view and developing self-discipline can result in 
bigger and better rewards in the future."라고 하며 
즉각적 만족보다 장기적 보상이 중요함을 설명함.

C에서 "Delayed gratification is our ability to resist 
these temptations of instant pleasure, allowing us 
to stay focused on our long-term goals."라고 하며 
A에서 언급한 개념을 구체적으로 정의함.

C → B
C에서 "It involves budgeting and spending mindfully, 

as well as developing discipline and patience to 
avoid impulse spending and decision making."라고 

하며 절제력을 기르는 방법을 설명함.
B에서 "Think about instant vs delayed gratification 

when you are developing your own financial 
goals."라고 하며 C에서 설명한 절제력을 재정 목표 
설정과 연결함.

핵심 요약
A: 즉각적 만족보다 장기적 보상이 중요함
C: 이를 위해 절제력이 필요하며, 재정 관리에서도 유

용함
B: 재정 목표를 설정할 때 즉각적 만족과 장기적 보상

을 고려해야 함

84) 정답: ① (A) - (C) - (B)
정답 선택지 분석
A → C
A에서 "Therefore, new technologies and procedures 

are crucial to the progress of science."라고 하며 
새로운 기술이 과학 발전에 필수적이라고 설명함.

C에서 "Because this skepticism often comes to us in 
the form of sound bites"라고 하며 A에서 언급한 
새로운 기술에 대한 회의적 반응을 설명함.

C → B
C에서 "Waffling is annoying when you are trying to 

make decisions on the basis of the scientific 
information that comes your way."라고 하며 기술
적 불확실성이 의사결정을 어렵게 할 수 있음을 설
명함.

B에서 "However, if a new technique is the source of 
the uncertainty, time and future experiments will 
confirm or disconfirm its usefulness and clear up 
uncertainty."라고 하며 C에서 제기한 불확실성이 시
간이 지나며 해결될 수 있음을 설명함.

핵심 요약
A: 새로운 기술은 과학 발전에 필수적임
C: 하지만 새로운 기술에 대한 회의적 반응이 있을 수 

있음
B: 시간이 지나면 실험을 통해 불확실성이 해결될 것

85) [정답] ④
앞 문장 (③)

"Tracking performance in this case would enable 

a comparison of revenue generated with costs 

incurred to execute the promotion."

→ 마케팅 활동의 성과를 추적하면 수익과 비용을 

비교할 수 있음을 설명함.

삽입 문장

"Such return on investment analysis should be 

performed whenever possible to understand the 

relationship between marketing investment and 

profits, and guide decision-making for future 

marketing activities."

→ ROI(투자 수익률) 분석이 마케팅 투자와 수익의 

관계를 이해하고 향후 의사 결정을 돕는 데 필요

함을 강조함.
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뒷 문장 (삽입 후 없음)

→ ROI 분석이 중요한 이유가 논리적으로 마무리

되며, 이후 추가 설명이 필요하지 않음.

결론:

삽입 문장은 마케팅 성과 추적의 중요성을 강조하

며, ROI 분석을 통해 미래 전략을 수립할 수 있다

는 점을 설명하므로 ④ 위치가 적절하다.

 

86) [정답] ⑥
앞 문장 (⑤)

"Infants, like all of us, strive to achieve closure."

→ 인간이 본능적으로 완결성을 추구한다는 점을 

설명함.

삽입 문장

"They have similar needs for closure in their 

causal models of how things happen."

→ 인간의 인과 관계 모델에서도 이러한 완결성 

추구가 나타난다는 점을 강조함.

뒷 문장 (⑥ 이후)

"This constellation of needs for closure often 

helps drive wonder, especially when there is a 

need to close an explanatory gap."

→ 완결성 추구가 인간의 호기심을 자극하는 역할

을 한다고 설명함.

결론:

삽입 문장은 인간이 단순한 사물뿐만 아니라 인과 

관계 모델에서도 완결성을 추구한다는 점을 강조

하며, 이후 문장에서 이러한 성향이 어떻게 작용하

는지를 설명하므로 ⑥ 위치가 적절하다.

87) [정답] ⑤
앞 문장 (④)

"Morning newspapers printed during the night 

were, of course, able to distribute over a wider 

range than afternoon papers."

→ 신문 배포 범위가 인쇄 시간에 따라 달라진다

는 점을 설명함.

삽입 문장

"By and large, however, the geographical area 

within which happenings were regularly reported 

as local news coincided with the area from 

which the newspaper drew the bulk of its 

readers."

→ 결국, 신문의 지역 뉴스 보도 범위는 주요 독자

층이 위치한 지역과 일치한다는 점을 강조함.

뒷 문장 (삽입 후 없음)

→ 신문의 지역적 특성을 마무리하는 결론 역할을 

함.

결론:

삽입 문장은 신문 보도의 지리적 범위가 독자층과 

일치하는 경향이 있다는 점을 강조하며, 이후 추가

적인 논의 없이 논리를 마무리하므로 ⑤ 위치가 

적절하다.

88) [정답] ②
앞 문장 (①)

"Wind plays an important role in Earth's water 

cycle."

→ 바람이 물 순환에서 중요한 역할을 한다는 점

을 설명함.

삽입 문장

"Traditionally, it was thought that the planet's 

water cycle mostly involved evaporated moisture 

from large bodies of water being distributed by 

wind across the Earth's surface."

→ 과거에는 물 순환이 주로 대형 수역에서 증발

한 수분이 바람을 통해 이동하는 것으로 여겨졌다

는 점을 설명함.

뒷 문장 (② 이후)

"In the last fifty years, that view has changed — 

it is now known that forests play a significant 

role in generating the transpiration that drives 

rainfall."

→ 그러나 최근 연구에 따르면 숲이 물 순환에서 

중요한 역할을 한다는 새로운 관점이 등장했음을 

설명함.

결론:

삽입 문장은 과거의 물 순환 개념을 설명하며, 이

후 문장에서 이 개념이 변화했다는 점을 강조하므

로 ② 위치가 적절하다.

89) [정답] ③
앞 문장 (②)

"However, when a social group undergoes 

significant changes across generations leading to 

the need for a different type of communication, 

an earlier variety might cease to be used."

→ 사회 집단이 변화하면 기존 언어가 사라질 수 

있음을 설명함.

삽입 문장

"This occurred with the English initially spoken 
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in Cosme and Nueva Australia, which were rural 

Paraguayan communities founded by Australian 

immigrants in the 1890s."

→ 파라과이의 특정 지역에서 이와 같은 현상이 

실제로 발생했음을 예로 듦.

뒷 문장 (③ 이후)

"The only remaining language vestiges from 

those English-speaking immigrants are common 

Paraguayan last names like Kennedy, Smith, 

Stanley, and Wood."

→ 언어가 사라졌지만 일부 흔적(성씨 등)이 남아 

있음을 설명함.

결론:

삽입 문장은 사회 변화로 인해 특정 언어가 사라

지는 현상의 실제 사례를 제시하며, 이후 문장에서 

그 결과를 설명하므로 ③ 위치가 적절하다.

90) [정답] ⑤
앞 문장 (④)

"If it is a bee sting, where the bee leaves 

noxious liquids at the sting site, more neurons 

at the site of the sting are triggered than with 

a mosquito."

→ 벌에 쏘이면 더 많은 신경이 자극된다는 점을 

설명함.

삽입 문장

"Therefore, Signal is sent to the brain, with a 

stronger insertion into the individual's 

consciousness."

→ 벌침으로 인해 더 강한 신호가 뇌로 전달되고, 

의식 속에서 더 강하게 인식됨을 설명함.

뒷 문장 (⑤ 이후)

"If a falling tree crushes a leg then many, many 

pain receptors are fired off and the 

consciousness is overwhelmed with pain signals."

→ 더 심한 통증 사례(나무에 깔리는 경우)로 논의

를 확장함.

결론:

삽입 문장은 벌침이 뇌에 강한 신호를 보내 의식

에 더 깊이 각인된다는 점을 설명하며, 이후 문장

에서 더 극단적인 경우로 논의를 확장하므로 ⑤ 

위치가 적절하다.

91) [정답] ②
앞 문장 (①)

"The very act of undertaking a risk assessment 

on an individual or family carries with it the 

likelihood of decisions being taken with which 

some of the people involved may violently 

disagree."

→ 위험 평가를 수행하는 과정에서 갈등이 발생할 

수 있음을 설명함.

삽입 문장

"To remove a child 'at risk' from a family to a 

place of safety, or to insist that someone in 

mental distress goes into hospital for treatment, 

is to be involved in conflict."

→ 특정 사례(아동 보호, 정신 질환 치료)를 제시하

여 갈등의 구체적인 예를 설명함.

뒷 문장 (② 이후)

"Within a multi-disciplinary hospital team, there 

could also be conflicting approaches to how to 

work most effectively with, or treat, a particular 

individual or family."

→ 의료 팀에서도 갈등이 발생할 수 있음을 추가

적으로 설명함.

결론:

삽입 문장은 갈등이 발생할 수 있는 구체적인 사

례를 제시하며, 이후 문장에서 다른 상황에서도 갈

등이 발생할 수 있음을 설명하므로 ② 위치가 적

절하다.

92) [정답] ④
앞 문장 (③)

"Without the fibre in the juice, the sugar sends 

us on a rollercoaster of energy cycles, starting 

with a boost and ending in a crash."

→ 섬유질이 없는 주스의 당이 에너지 급증과 급

락을 초래한다고 설명함.

삽입 문장

"The crash may be just at the point when you 

are asked to stand up and present your ideas 

or you need to kick off that tricky task on your 

to-do list."

→ 이러한 에너지 급락이 중요한 순간에 발생할 

수 있음을 예로 듦.

뒷 문장 (④ 이후)

"It's just not worth it."

→ 이러한 이유로 주스를 마시는 것이 가치 없다
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는 결론을 내림.

결론:

삽입 문장은 에너지 급락이 현실에서 어떻게 영향

을 미치는지 예를 들며, 이후 문장에서 주스를 피

하는 것이 좋다는 결론으로 이어지므로 ④ 위치가 

적절하다.

93) [정답] ⑥
앞 문장 (⑤)

"The flipside is an unfocused strategy leads to 

ads that must deliver many different points all 

at the same time."

→ 광고 전략이 초점이 맞지 않으면 여러 메시지

를 동시에 전달하려 한다는 점을 설명함.

삽입 문장

"This is not effective."

→ 초점 없는 전략이 효과적이지 않다는 점을 단

순하게 강조함.

뒷 문장 (⑥ 이후)

"Here's an analogy: Try throwing a dozen balls 

at someone all at once."

→ 비유를 통해 왜 초점 없는 광고 전략이 효과적

이지 않은지 설명함.

결론:

삽입 문장은 초점 없는 광고 전략이 효과가 없음

을 간결하게 강조하며, 이후 문장에서 이에 대한 

비유를 제시하므로 ⑥ 위치가 적절하다.

94) [정답] ①
앞 문장 (없음)

→ 지문이 단어의 의미 변화에 대한 논의를 시작

함.

삽입 문장

"This demonstrates how words are mere labels 

for constructs of meanings."

→ 단어가 단순한 의미의 레이블이라는 점을 설명

함.

뒷 문장 (① 이후)

"If these constructs have a different make-up for 

one person to another, the transitivity of 

communication between them is not going to 

be complete or accurate."

→ 의미 구성이 사람마다 다를 경우 의사소통이 

어려울 수 있음을 설명함.

결론:

삽입 문장은 단어가 단순한 레이블임을 강조하며, 

이후 문장에서 의미 구성 차이에 따른 의사소통 

문제를 설명하므로 ① 위치가 적절하다.

95) 
[정답] ③
앞 문장 (②)
"Delayed gratification is our ability to resist these 

temptations of instant pleasure, allowing us to 
stay focused on our long-term goals."

→ 지연된 만족이 단기적 유혹을 참아 장기 목표에 집
중할 수 있도록 돕는다는 점을 설명함.

삽입 문장
"It involves budgeting and spending mindfully, as 

well as developing discipline and patience to 
avoid impulse spending and decision making."

→ 지연된 만족이 예산 관리, 충동적 소비 회피 등과 
관련됨을 구체적으로 설명함.

뒷 문장 (③ 이후)
"Think about instant vs delayed gratification when 

you are developing your own financial goals."
→ 자신의 재정 목표를 세울 때 즉각적 만족과 지연된 

만족을 고려해야 한다고 조언함.
결론:
삽입 문장은 지연된 만족이 어떻게 적용되는지를 설명

하며, 이후 문장에서 이를 재정 목표와 연결하므로 
③ 위치가 적절하다.

96) [정답] ②
앞 문장 (①)

"Uncertainty about what tool or procedure to 

use, and the risk that results are not what they 

appear to be, are problems common to all the 

scientific disciplines."

→ 과학에서 도구와 절차의 불확실성이 문제라는 

점을 설명함.

삽입 문장

"Therefore, new technologies and procedures are 

crucial to the progress of science."

→ 새로운 기술과 절차가 과학 발전에 필수적이라

는 점을 강조함.

뒷 문장 (② 이후)

"The development of new tools allows scientists 

to answer questions they could not answer in 

the past, and the answers to those questions 

will lead to new questions, and so on."

→ 새로운 기술이 과학 발전을 가능하게 한다는 

점을 구체적으로 설명함.

결론:

삽입 문장은 과학 발전에 새로운 기술이 필수적이

라는 점을 강조하며, 이후 문장에서 이를 통해 과
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학이 발전하는 과정을 설명하므로 ② 위치가 적절

하다.

97) 정답: ③ assess / guide

98) 정답: ② desire / stimulates

99) 정답: ③ municipal / geographical

100) 정답: ③ moisture / prevailing

101) 정답: ② evolve / significant

102) 정답: ① amount / severity

103) 정답: ③ balancing / protection

104) 정답: ③ disrupt / sudden

105) 정답: ② focused / deliver

106) 정답: ③ understand / underlying

107) 정답: ② Delayed / temptations

108) 정답: ③ skepticism / tools

109) 정답: ② influenced / meeting / needed

110) 정답: ④ doing / startled / disappointed

111) 정답: ⑤ compete / bounded / permitted

112) 정답: ② changed / thought / being distributed

113) 정답: ④ affect / leading / to be used

114) 정답: ① triggering / relayed / asserts

115) 정답: ④ required / taken / to be

116) 정답: ② to drink / had / eating

117) 정답: ④ to go / to deliver / making

118) 정답: ④ changed / going / learning

119) 정답: ⑤ want / taking / to resist

120) 정답: ⑤ to be / to answer / to the progress

121) ➡ Such return on investment analysis should 
be performed whenever possible to understand 
the relationship between marketing investment 
and profits, and guide decision-making for future 
marketing activities.

122) ➡ This constellation of needs for closure often 
helps drive wonder, especially when there is a 
need to close an explanatory gap.

123) ➡ By and large, however, the geographical 
area within which happenings were regularly 
reported as local news coincided with the area 
from which the newspaper drew the bulk of its 
readers.

124) ➡ When this water moves through the power 
of wind in large volumes, it becomes what 
meteorologist José Marengo called a 'flying river'.

 
125) ➡ The only remaining language vestiges from 

those English-speaking immigrants are common 
Paraguayan last names like Kennedy, Smith, 
Stanley, and Wood.

126) ➡ Torn flesh will continuously fire the signal 
until medical treatment deals with the problem.

127) ➡ To develop appropriate communication skills 
for dealing with conflict is, therefore, essential.

128) ➡ Sugary caffeine drinks have a similar, if not 
more profound, effect, yet large coffee shop 
chains take great delight in selling us expensive, 
iced or cream-topped drinks that are equivalent 
to an extra meal, but will simply not register as 
one — starting a blood sugar crash cycle all over 
again.

129) ➡ That's the difference between an ineffective 
ad with a fuzzy strategy and an effective ad with 
a focused strategy.

130) ➡ However, it is important for those teaching 
children at early stages of the acquisition of 
English in our schools to attend to building the 
understanding of meanings behind the labels of 
the words and phrases being taught.

131) ➡ Delayed gratification is our ability to resist 
these temptations of instant pleasure, allowing us 
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to stay focused on our long-term goals.

132) ➡ Because this skepticism often comes to us 
in the form of sound bites, and because 
uncertainty about experimental tools is an aspect 
of science that is not familiar to most people, 
even people with a bachelor's degree in science, 
the skepticism may seem like waffling.


